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" \PART A’

e ereal a1 HoPgt A W T A ThH wEdr
B g5 & % IR W et 3¢ ged
HH H Iaedd e gl

UTell H TG AT ;T

G F grAT AT AT
gafrar &7 gl

T H e

H F,GH 2. EG,FH
H F,GE 4. H,EFG

WrEr T @ mom

In each of the following groups of words is a
hidden number, based on which you should
arrange them in descending order. Pick the
correct answer:

Papers | Xeroxed

Wi-Fi veteran

Yourself ourselves
Breaks even

H F, G, H 2.
H F G E 4.

wkRrTOTM

mo
™

Im
OI

3R & 7 qof & gear §
1. 30 2. 29
3. 25 4. 20

The number of squares in the above figure is
1. 30 2. 29
3. 25 4. 20

T gahleleR Ush 39T I Rs. 100 H Tiedr
T U 3 10% oTH H ST g1 AGH I
IS @ 3 gHCR PN 10% AT HITT

g7 47 3 ¥ 59 aAEA H gEeER B
R §

1. IS H AT ThATET AgT
2. Rs.11
3. Re.l
4. Rs.20

A shopkeeper purchases a product for
Rs.100 and sells it making a profit of 10%.
The customer resells it to the same
shopkeeper incurring a loss of 10%. In these
dealings the shopkeeper makes

1. no profit, no loss

2. Rs.11

3. Re.l

4. Rs. 20

S AT _IAm. g, 9RAT 165 & Uw §3
MA@ e Ui FaEEH g i S
gl S gEr A # 9 R ue &
gR&ATT FT 82

1. 37 2. 75
3. 15 4. 165

Five congruent rectangles are drawn inside a
big rectangle of perimeter 165 as shown.
What is the perimeter of one of the five
rectangles?

1. 37 2. 75
3. 15 4. 165

T FFd 10 kmh #HT AT A HeTel, 6
km/h 1 afd & FEq, dur 7.5 km/h ¥ I
H GAdA H Fodl gl IG 39 ¥ A &
O U B a% I & AT 3E 9 §,
Jar T & fow 19er, AGUTB & & Hr

A
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15 km.
23.5 km.
16 km.

g & IRpeT & T Y 73 3R
e gl

> wneE

A person walks downhill at 10 km/h, uphill

at 6 km/h and on the plane at 7.5 km/h. If

the person takes 3 hours to go from a place A

to another place B, and 1 hour on the way

back, the distance between A and B is

1. 15km.

2. 23.5km.

3. 16 km.

4. Given data is insufficient to calculate the
distance.

Teh Sclel H STel 3R IR ST g1 3R e
3EH STl ST &, FHT & WY 3Hegard
afa F [P, oct] | T F FA AT
V& AT t & AqrI-arg aRaad @ [
aEt & @ Sia-ar @@ g2t 82

1Lv 2.V/

oL — oL—

t t

oL 0 3

A vessel is partially filled, with*water. More
water is added to it.at a raterdirectly propor-

tional to time [i.e.,%oc t]. Which of the

following graphs.depicts correctly the varia-
tion of total,volume V of water with time t?

1. V. 2.V/

O—’t 0 t

fonely &for TS & Uz A °©C f FgS wd
fAec T S5 TUT6 3t & & Th & IW
T A 39 & A Bee frogs #
A

1. 6 3% & 3F 9 §
2. 53U 6 3HH H AT g W gl
3. 5 3% & 3feF 9 gl
4. 119Ur12 3 § AW gl W Bl

At one instant, the hour hand and the minute
hand of a clock are one over the other in
between the markings for 5 and 6 on the dial.
At this instant, the tip of the minute hand
1. s closer to the marking for 6
2. is equidistant from the markingsfor
5and 6
3. iscloser to marking fors
4. is equidistant from the markings for
11and 12

T Ugl 3o ‘Eiel @l SIS 38 1T ¢l
e 8 3EHNG X, AT t & Folel &
& A7 RFaRRa T g B RE A
-1 HET g1 AGT HehalT?

1 2.
X X
nest t nest t
3 4.
X X
nest t nest t

A bird leaves its nest and flies away. Its
distance x from the nest is plotted as a
function of time t. Which of the following
plots cannot be right?

1. 2

X X

nest t nest t
3 4,

X X

nest t nest t

1 .37 AT Icd H Tl Th Gl I S
FI SET UrRd 29 TAY. & gl 3 A &
CEY Ush 99 H1 IHS eI HHEH WM SATel
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10.

10.

11.

11.

12.

g, T 3R 38F 3y, v faaffer gedr gl
RN T H fhda g g7 gl
1. 29 2. 28
3. 15 4. 14

A cubical cardboard box made of 1 cm thick
card board has outer side of 29 cm. A tight-
fitting cubical box of the same thickness is
placed inside it, then another one inside it
and so on. How many cubical boxes will be
there in the entire set?

1. 29 2. 28

3. 15 4. 14

AT, &7 UG =i, 34 A WUTHS quif &r
HET Jeurcl & fAYOT I gfadg gor
FAR A9 g1 & IrAfAE gt 8 ey <RI
A &1 YW, o, 8 T el & HAWT
Iqari & AT § sdAar Bl 3@

Secondary colours are made by a mixture of
three primary colours, Red, Green and Blue,
in different proportions; each of the primary
colours comes in 8 possible levels. Grey
corresponds to equal proportions of Red,
Green and Blue. How many shades«ofgrey
exist in this scheme?

1. & 2. 8

3. 3° 4. 8x3

aﬁﬁ?ﬁ HHAdT U, @3t y=x,y=1—x
dqUr x =0 A & T IFP ST & (x AAUTy
3787 AT HAHUHA F o)

1. Efau#ssi . ud oigehior

2. SIAGHST W SAGhIOT gl

3. WERIOT T SfAHAST el

4., T efaaee]st, o ar elehror

The triangle formed by the lines y = x,y =
1—x and x = 0 in a two dimensional plane
is (x and y axes have the same scale)

1. isosceles and right-angled

2. isosceles but not right-angled

3. right-angled but not isosceles

4. neither isosceles nor right-angled

AdUTB @ dTedl g1 URH H AH 2 foex
TSI IAT BT sGREOGC AT BHIH

13.

13.

14.

e S TUEaRd fear Srar g, ar
mm%$wewsﬁAﬁ§ﬁa
S TAEART FAT S1ar &1 STog ¥ Sog

A GTell g1 :
1. 549l & dI¢ 2. 49el & 9
3. 3decl & 9§ 4. 249el & 9

. There are two buckets A and B. Initially A

has 2 litres of water and B is empty. At
every hour 1 litre of water is transferred from
A to B followed by returning %Iitre back to
A from B half an hour later:, The earliest A
will get empty is in:

1. 5h 2. 4h

3. 3h 4. 2h

FUT A: 35T FUT TT B

FUT BH3INE HUT 35 ¢

oy fassT i e 7 ¥ T

10, FUT A TUT HUA B gl AT T &1

2. HYUT AJUT HUA B AT TG & Thdt g,
Ife ATUB & §IT FA-T-FH T 3T
HYA gl

3. HYUTATYT FUF BT TE & T &,
Ife ATUB & T FA-T-HF ar 3R

FUT g
4. HYT ATUT FHYUT B AT TadT: HAT TE

gl g dehd|

Statement A. The following statement is true

Statement B. The preceding statement is

false.

Choose the correct

following:

1. Statements A and B are always true

2. Statements A and B can be true if there
is at least one statement between A
and B

3. Statements A and B can be true if there
are at least two statements between
Aand B

4, Statements A and B can never be true,
independently.

inference from the

T &R 60 km/h I1fd & TeT W &1 395
4T & Fed IR PUd Wegsit &
derifares i &

1. 60 km/h 33T Fr RE

2. 120 km/h 31T T RE
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14.

15.

15.

16.

16.

3. 60 km/h 3T Y TH
4. 120 km/h 3T Y TH

A car is moving at 60 km/h. The instantan-
eous velocity of the upper most points of its
wheels is

1. 60 km/h forward

2. 120 km/h forward

3. 60 km/h backward

4. 120 km/h backward

gfg D+1+M=1501
C+1+V+1+L=157
L+1+V+I1+D=557
C+l+V+1+C=207

A V+HI+M=?

1. SN IdT 1T oAT ST Hehcll
1009
1006
509

o

If D+1+M=1501
C+1+V+I1+L=157
L+1+V+1+D=557
C+l+V+1+C=207

WhatisV+1+M= ?

1. Cannot be found

2. 1009

3. 1006

4, 509

T Shifad &Ifer & Srer-3maiRd Sfiaged

& qAT gfaRd Feer ¥ HHAIfRT g1 IS

FIRAFT FT TS I, F, ~ A0T T TH

Fr d1eR fHAereret & §Ig

1. IS YHIG @ gl STgam|

2. STe)dd, PIAST O I TIET G I
CALTT % gS A IS TN Bg A
Slidged &1 afgdra gham|

3.0 e HIfAST #AX Al Sl dd doh
Shaged T afgdrd gedr gem|

4. AR S IR Bl

A living cell has a protoplasm which is water
based and demarcated by a lipid bilayer

membrane. If a cell is pierced up to % th of

its diameter with a very sharp needle, after
taking the needle out

17.

17.

18.

18.

19.

Lo

no effect will be observed.

2. protoplasm will leak out from the hole
made by the needle for a few minutes
until the cell heals the wound.

3. protoplasm will keep on leaking out till
the cell is dead.

4. the cell will burst like a balloon.

Teh gl o 37Tl &l Helcd %1.59/CCHQJT
MGl & S H Yol Beled § 0.80 glee | I
1foeX & wH 9T H AEd ¥ g
STr g, o uF A Read T A FA

3T 819 SIIT87aT
1. 350cc 2.
3. 550cc 4,

465 cc
665 cc

Density of a rice grain is 1.5 g/cc and bulk
density of rice heap is 0.80 g/cc. If a 1 litre
container is,completely filled with rice, what
will _be “the “approximate volume of pore
space in'the container?

15, 350/ cc 2. 465cc
3. 550cc 4, 665cc
T JoclhR dlelld T qRTET W EId T

g A Th FTIT AT YE HAT &l Th
A W@T H 4 A R & &6 g dreld
& aRfe W RUd fdg B O 3 g1 T8 &
g8 fem seoar § dur 3 Her W @ A
& & 9Ig 96 A ¥ T 3edl fdg DW
3T ST g1 A & DT & gl g7

1. 3m 2. 4m
3. 7m 4, 5m

A turtle starts swimming from a point A
located on the circumference of a circular
pond. After swimming for 4 meters in a
straight line it hits point B on the circum-
ference of the pond. From there it changes
direction and swims for 3 meters in a straight
line and arrives at point D diametrically
opposite to point A. How far is point D from
A?

1. 3m 2. 4m

3. 7m 4. 5m

TN Ied, o & | & & B §
T §- S § 76 &Y gect ar 3R gedl @r
Ol §, TYUT 31 g Th 1 & IR MY W
usd &1 IRT Jeal & o R &1 1 s el
3
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19.

20.

20.

21.

21.

1. n-1 2.
3. 3= 4,
Four circles of unit radius each are drawn
such that each one touches two others and
their centres lie on the vertices of a square.
The area of the region enclosed between the
circles is
1. n-1

2
3. 3-=x T

2. m—
4. 4
T fhedl Ylsieel aUT Th geHAed FAm
mata 33 ¥ wWq Mfd SRt @ i
dEa ¥ T Wowey & #H safad FJ@
forar e &
1. T& Shifad FIfAer #F 1 Joidey |

@1 AgT T FeheT
2. & T W geweelt F o @ €

T Wieiee § FHT gy e Bl
3. geHaRl v wfoad RAFa gavar ¥

Safh Wlolde] Ueh aedide [ae e

FaATaT §1 f
4, YrSierex i 37UaT FEHSHUT el
s Qe afFa Bl
A film projector and microscope give equal
magnification. But a film projectoryisunot
used to see living cells because
1. aliving cell cannot be placedin afilm
projector.
2. the viewer’s eye is clase to.a microscope
whereas it is far away. from the 23
projector’s screemn:
3. amicroscope produces a virtual image
whereas a projector produces a real
image.
4. amicrascope has greater resolving
power than a projector.
g7 \PART 'B'
0.2 M Na;HPO, el & 3=t JreHey ghem 24.
1. 02M 2. 04M
3. 06M 4, 08M

The ionic strength of a 0.2 M Na,HPO,
solution will be

1. 02M 2.
3. 06M 4.

04 M
0.8 M

22.

TY[FANICISS STHATT & TIT 3qR qiepr
HUT Teh HIRAHT a2 A °N oafod Tfaar
IFT JFd Th AeIH @emar I e
UfHar el # ¥ fRas @y 37ER BN
Jafod IR T HHad: Searfed HEm?
TEaifea 3Fdr

ECIEE
TSI HeT

N

THUTeIfAT

> w N

. A cell line deficient in salvage pathway for

nucleotide biosynthesis was fed with medium
containing N labelled amino acids. Purines
were then extracted. Treatment with which
one of the following amino acids is likely to
produce °N labelled purines?

1. Asparticacid

2. Glyeine

3. /Glutamine

4. “Aspartamine

AT gﬁ?l’zﬁ H ¥ frasd garT TeollsHA

ey rfAfFar & caRa =g &
1. WhHAUT AT AT TAT g 3HTALTh
Foll I T

2. foramar & aifdes Fa & ada &

3. TRITuR T 3cute & g HF Sl
HE I TG

4. UeolgAl i EAIAROT AT I TGTeh

. Enzymes accelerate a reaction by which one

of the following strategies?

1. Decreasing energy required to form
the transition state.

2. Increasing kinetic energy of the
substrate.

3. Increasing the free energy difference
between substrate and the product.

4. Increasing the turn over number of
enzymes.

3iteraReol wrEmIReletor & fRfRar Far

& FIAA e & I fohaeh earr wred fovar

7T 82

L @ IR HAfRAT gl Fr vh el
AT

2. URT Tl & 3R fHeeh &
TUTATRIOT &
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3. gRfFasiier qur ArSehA C
4, Gl & 99l GaRT

24. Coupling of the reaction centers of oxidative
phosphorylation is achieved by which one of
the following?

1. Making a complex of all four reaction
centers.

2. Locating all four complexes in the
inner membrane.

3. Ubiquinones and cytochrome C.

4.  Pumping of protons.

25. fopdll Sfaro] & @sfleT THATT DNA 30T &
o1 &, fomdr oers 10° bp &1 Teielr DNA
& fohcel Hiel SiaTo] # 3uReyd g2 [A 6
ARG &I § = 6 x 102%]
1 =x107% 2.
3. 6x10 4.

Ix10-14
6

6 % 10%3

25. The genome of a bacterium is composed of a
single DNA molecule which is 10° bp long.
How many moles of genomic DNA is
present in the bacterium? [Consider
Avogadro No = 6 x 1023]

1. 1x10-2 2. X104
6 6

3. 6x10% 4. 6 %1073

26. Teh YU E. coli RIRISTGHI 3T JORLT HI
qoicrar gfdehd oet (40 eie oord €1 JoRg
gfdspides & QYU-gry, HAA & ool &
qd 20 PAetel A Sfasfaaer &1 o 7 ek q
fhar SIcm, &1 Hper  ATegH H O 37°C A
A8 E. coli T STeTeTehlel T BIIT?

1.%.20 fA=e 2. 40 f&=e
3460 =TT 4. 30 f@=e

26. It takes 40 minutes for a typical E. coli cell to
completely  replicate  its  chromosome.
Simultaneous to the ongoing replication, 20
minutes of a fresh round of replication is
completed before the cell divides. What would
be the generation time of E. coli growing at
37°C in complex medium?

1. 20 minutes 2.
3. 60 minutes 4,

40 minutes
30 minutes

27.

27.

28.

28.

29.

T A STefid SAgFd  TASHIBIRG  Th
BRERIANE gfdRd e W he dhdr &
hael

1. Th &R 2.
3. o« IR 4.

ar IR
IR a1

Glycophorin having one highly hydrophobic
domain is able to span a phospholipid bilayer
membrane only

1. once 2.
3. thrice 4.

twice
four times

FIfFT TH T gead Fea & =i §

(a) AT A, B, C &1 BIERITeNHIOT
(b) Rb RFCASETECIAT FENA) T
HIERIR cllehIoT
(c) HFARAPT TgerHTAATRIOT
(d) (3TIRF FghrT Breell MEAT TAT gy
T HFAY NEAT 1 oA § qEad
TAT HITART Toh T el TeAhH oot &
T Far B

1. a—b—c—d 2. b—oc—d—a
3. c—a—b—d 4. b—a—c—d

Given below are events in the cell cycle.

(@) Phosphorylation of lamin A, B, C

(b) Phosphorylation of Rb (Retinoblastoma
protein)

(c) Polyubiquitination of securin

(d) Association of inner nuclear membrane
proteins and nuclear pore complex
proteins with chromosomes.

Which one of the following reflects the

correct sequence of events in the mammalian

cell cycle?
1. a—>b—c—d 2. b—oc—d—a
3. c—a—b—d 4, b—a—oc—d

T @Al § I Hi9-91 T DNA

afaderes &2

1. 5-SUAGRH

2. ¥ HrdT Aowieic
3. ufRde AR

4,  GHIAT
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29.

30.

30.

31.

31.

32.

Which one of the following chemicals is a
DNA intercalator?

1. 5-Bromouracil

2. Ethyl methane sulfonate

3. Acridine orange

4. UV

3MafAd tRNA 3107 & 3’ 3icd & Hed Uh

CIGEICERES 33
1. ETATSH
2. AT
3. TSI
4. CTHETSFNT

An antibiotic that resembles the 3’end of a
charged tRNA molecule is:

1. Streptomycin

2. Sparsomycin

3. Puromycin

4. Tetracycline

o-TATAfCT T  wadhr Ay & S
oo RNA Tforatalt 1 Jeael e
el Fehegehld RNA dfolelsl g0 3fay &
foT e ¥7 F ddcadle g1 a-TATfC
& U Hagaderar & el § e s
(3T A 7oA dF) A q FHIT-A1 FELG?
1. RNAPOL Il > RNA POL il > RNA POL
RNA POL 11 > RNA POL Il ::RNAPOL |

2.
3. RNAPOL I > RNA POLJIT">RNA POL Il
4. RNAPOL Il > RNAPOL.| > RNA POL Il1

a-Amanitin is a fungal toxin which inhibits
eukaryotic RNA polymerases. The three
eukaryotic _RNA 4 polymerases  show
differential . sensitivity to this toxin. Which
one of the following order (higher to lower)

is correctUin respect of sensitivity towards o- 34.
amanitin?
1. RNA POL Il > RNA POL Il > RNA

POL I
2. RNAPOL Il > RNA POL Il > RNA

POL |
3. RNAPOL I>RNAPOL Il >RNA

POL Il 35.
4. RNAPOL Il >RNAPOL I >RNA

POL 1l

ghodr afagfaas #, @ sfdfawmdist
gfahar ®RoT 38 SR g &

32.

33.

34.

1. G, uTaedr 2
3. SygEdr 4,

G, 9TaEdT
G, JTa&AqT

In eukaryotic replication, helicase loading
occurs at all replicators during
1. Ggphase 2.
3. Sphase 4,

G, phase
G, phase

. IR T fifteR sifdcged widr &

1. CD8 s &r, aar Foff 1| MHC

EIGEIEC

2. CD4 fgas @I, aur Auihl MHC
EIGEIEC RS

3. CD4 fagss &1, dar Aol 1l MHC
EIGEIEC RS

4. CD8 Rigsish &I, dar Aufr | MHC
EIGEISr i

Cytatoxic T cells express

1.7, CD8 marker and are class Il MHC
restricted

2. CD4 marker and are class | MHC
restricted

3. CD4 marker and are class Il MHC
restricted

4, CD8 marker and are class | MHC
restricted

31e il T 3cqRade foet quif & @
free g3ar g7

1. YHREATRT 3caRade

2. UUR TATATCROT 3cTRdcleT

3. U 3caRadd

4. 99 HOT 3cqRTdA

The mutation in an oncogene falls under
which of the following classes?

1. Loss of function mutation

2. Frame shift mutation

3. Gain of function mutation

4. Dominant negative mutation

o § & HA-T7 T HIRASAI-3ESTA
NET ALY &2

1. el

2.  WelfdcsT

3. gERpAiae (Ig) FETgLa

4, ffafaa
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35.

36.

36.

37.

37.

38.

38.

Which of the following is NOT a cell
adhesion protein?

1. Cadherin

2. Selectin

3. Immunoglobulin (1g) superfamily
4. Laminin

et 3 & FiA-TT T I g A &2

1. dfshe GMP

2. srNgsd Tera’ic

3. SAIffcio CIshIThe

4, wIEHIEEET gAfAcier

Which of the following is NOT a second
messenger?

1. Cyclic GMP

2. Diacylglycerol
3. Inositol triphosphate
4. Phosphatidyl inositol

oy & vw o, oig Res, duar gar &t
e s & Rffes @Gt @ ura
ALOIGs gcal § 9Rd 3user fafsear w
R &1 I8 e & & fhger 4T &2

1. 3 3T ihan

2. OXuT & & fafrsear

3. g gRT I @ik
4

In chick, development of wing feather,
thigh feather and claws depends.on epithelial
specificity conferred™ by “induction from
mesenchymal compenents from different
sources of the dermins. This may be
attributed to?

1. Autocring interaction

2. Regional specificity of induction

3. Receptor activation by hormones

4. “Inactivation of genetic interactions

et Wl & & fFed 5 & FhEs
FIRAGR 3gTad gl g2

1. #ETOH

2. 3aaH

3. dEggH

4.  3ATWH JAT SEITH, grer

Alveolar cells of the lung arise from
which one of the following layer(s)?

39.

39.

40.

40.

41.

Mesoderm

Endoderm

Ectoderm

Both ectoderm and endoderm

el NS>

T & HE § IeX deh dTFas w3
T JaTdel Fgelldl &

1. 3dHAT 2. gfasgor

3. 3fadde 4. fIEROT
Migration of individual cells from the
surface into the embrye’s ‘imterior is
termed as

1. ingression 2. involution
3. invagination 4. delamination
gsuir fashrE, fafdea Tl & A’ @9 B’

g gar/ en T S fro e
yffcaFaat & afEa &1 e wiesitaw
3cURad ) #, geai & SEF g, deded,
339 9T 359 ORI gFRd H g 3caRadf
S&TUTIRT & HRUT oo ﬁﬁmﬁg}ﬂ

1
2.

3. ‘A’gur ‘B’ i
4, AFC T AT

Floral organ development is controlled by
overlapping expression of ‘A’ class, ‘B’ class
and ‘C’ class genes in different whorls. In an
Arabidopsis mutant, the flowers had sepals,
sepals, carpels and carpels in the four whorls.
Mutation in which one of the following is the
cause for the mutant phenotype?

1. ‘A’ class gene alone

2. ‘B’ class gene alone

3. ‘A’ and ‘B’ class genes

4. °C’ class gene alone

P Tald, S 3Tahiic great &
siftrpier FieAforers Hr q@adr g, e
g3t & & e IcaesT § 2
fIfafae e afder
Adllfeleh 37Fcl Ifdehr
Aaofas 3T gfdenr
HArdereRfetar 3rear afder

> w e
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41.

42.

42.

43.

43.

44,

Phenylalanine, a precursor of most of the
phenolics in higher plants is a product of
which one of the following pathways?

1. Shikimic acid pathway

2. Malonic acid pathway

3. Mevalonic acid pathway

4. Methylerythritol pathway

et i sreaaat & & forga “co, aer

BCo, 3uaeT FY a1 g2

1.  YRIAEAYOT ITf FT 3Tholel

2. YHIAWGHS IfT FI 3Teholel

3. CO, Fyqaor &I C, dur CAM
qfAHIIT T ATl

4. CO, Ea/eior &7 C; dur C, IfAhrait
T 3fegarel

For which one of the following physiolo-

gical studies *CO, and **CO, are used?

1. Estimate the rate of photosynthesis

2. Determine rate of photorespiration

3. Theratio of C, and CAM pathways
of CO, fixation

4. The ratio of Cz and C4 pathways of
CO, fixation

TIRT T & disa & ATl & srel
3gor F AeaRfers 3we (GA) IR
L gl st e F [T Faen R fegd
GA &I Jelfohal & o-TfAAST Sited IR grer
&2

1. oy 2. iR Al
3. Tod WRd 4. our
Gibberellic *wacid  (GA) controls seed

germination. by directing breakdown of
the stored starch. In which one of the
following™ tissues of the barley seed, a-
amylase gene is induced in response to
GA?

1. Endosperm 2.
3. Aleurone layer 4,

Coleoptile
Embryo

quil EERT AGHSAIT CO, FT ThRIERTH
TATMOT &l ThIAdoTT T g3, i
afgehd: gush &, & 3Jiclcdlcel & T H Fohrol
dur TR ST gl uhhar #r oEr SR
QT #H e FIRET 3 & wAreEr
# § sla-ar GiFAfad 82

44,

45.

45.

46.

1. WISSHEl & Fohlol TUT FADTIRIIT
TR

2. gRcoas & Fehlol Ul HFEHEIST H
TR

3. FARMOWRIAT H FohleT TAT WSS H
TR

4. @IS H el T gRaeas H
TR

The photosynthetic assimilation'of atmospheric
CO, by leaves yield sucroseand starch as end
products of two gluconeogenic pathways that
are physically separated., Which one of the
following combination of cell organelles are
involved in sueh physical separation of the
process?
1. Sucrose in.cytosol and starch in
mitochondria.
2. _Sucrose in chloroplasts and starch in
cytosol.
3.7, Sucrose in mitochondria and starch
in cytosol.
4.7 Sucrose in cytosol and starch in
chloroplasts.

A diabetic patient developed metabolic
acidosis resulting in deep and rapid breathing
which is called-

1. Kussmaul breathing

2. Cheyne-Stokes respiratory pattern

3. Apneustic breathing

4. Periodic breathing

fFT A & la-ar geF & a1fa R fasia

& @iy giFEAfad 78 g2

1. “h”- deTel

2. HHHAUT Hic™H Aol
3. drary Hievd deiel
4.  “p- ATl
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46.

47.

47.

48.

48.

49,

Which one of the following is NOT
involved with the pacemaker potential of
heart?

1. “h”-channel

2. Transient calcium channel

3. Long-lasting calcium channel

4. “f’- channel

T JedT & S FEAT A Q] auUr
T 309 Fgfehd 3ol HIRIBR e
QAT 3T &I gaTedsl & foIT 37T9eT gl
Jar gl AT 7 & FlF-ar sAeAe a9

1
2. 9T HAALG, Jd A
3. WY Hce™, qdr fSaecH
4. 999 f3dEcq, qdt Aeyd

You are asked to identify the stage of estrus
cycle in vaginal smear of a mouse containing
large number of leukocytes and very few
nucleated epithelial cells. Which one of
the following will be the correct stage of
estrous cycle?

Early estrus, late proestrus

2. Late estrus, early metestrus

3. Late metestrus, early diestrus

4. Late diestrus, early proestrus

=

Rt AR 3 e e AR o
¥ qeoeg divet & wfea &

1. uRawde

2. ufafeasrarsT
3. SHAe

4. AR

Which ‘one of the following neurotrans-
mitters is secreted by the pre-ganglionic
neurens of sympathetic nervous system?
Epinephrine

2. Acetylcholine

3. Dopamine

4. Norepinephrine

H

quif & Uik & fAT 3cderl Tw
IRe#redfad od Iaafas g fHaa
gl & F&dAd: HISgE S AT dur B S
A U IR TeoligAl & FHeod

49.

50.

50.

Fa & ¥ 9f¥er T & 3caREdt @
Jar b’ AT AT FT FisT A B

A B
X Y z
(White (Yellow (Green
substrate) product)

intermediate)

et g & SiETY®T AaBb & TTU
TIGHIOT & GRAT FcATTAT Tdfed & T & ?
1. &1 (9):2ad (4): e (3)

2. & (9): 9re (4): 3 (3)

3. &1 (9): W (6): 234 ()

4. U (9): 234 (7)

Following «is), a» hypothetical biochemical
pathway. ‘responsible for pigmentation of
leaves.. The“pathway is controlled by two
independently assorting genes ‘A’ and
‘B2, “encoding enzymes as shown below.
Mutant alleles ‘@’ and ‘b’ code for non-
functional proteins.

A B
X Y z
(White (Yellow (Green
substrate) intermediate) product)

What is the expected progeny after selfing a
plant with the genotype AaBb ?

1.  Green (9): White (4): Yellow (3)

2. Green (9): Yellow (4): White (3)

3. Green (9): Yellow (6): White (1)

4. Green (9): White (7)

3Ol JEmdr /S X # O 3cuRdA
oTdehar T HTar &1 ST X & g &
feaver & v e & & *ia-ar dsoaq
3T g7

1 Wm

2. drg-Hdcadel Icaikadr

3. YA IcaRTdr

4. 3aRadt Sas 37T fieT §

Mutation in gene ‘X’ leads to lethality in a
haploid organism. Which one of thefollowing
is best suited to analyse the function of gene
‘X’?
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51.

51.

52.

52.

Pleiotropic mutants
Temperature-sensitive mutants
Recessive mutants

Mutants with low penetrance

el NS>

e germaelr Ifa G 1 fohdr v
&Y demerta @ gelfar §:

m——0
- %

IS Ig HgAII:
1. Jiferargar g
2. 3ffolargET 3roemdy
3.  X-Hgddd gHTEr
4. folor @fAa

The following pedigree chart shows
inheritance of a given trait

m——0
- ﬂ

The trait can be called

1. autosomal dominant
2. autosomal recessive
3. X-linked dominant
4. sex limited

forely fAwagea < A, o 77 st &
fore, Sepwfawaer qur aurga & gadha &
aﬂaaﬁ%ﬁmaﬁagm%,yﬁa}ma:
R e a1 Sfir & & welrall &1
foaareeT & gfed gem?

1. I7 A 9ITGEAT | T 9ATGEAT I &
2. A YAIGEAT | A

3. AT gEmaEAT Il H

4. UIOEEAT IdAT I H

In a heterozygous individual for a given gene, if
a crossing over has occurred between the gene
locus and the centromere of the chromosome,
the segregation of the two alleles of

53.

53.

54.

the given gene will occur during meiosis at
1. either anaphase | or anaphase 1l

2. anaphase | only

3. anaphase Il only

4. both anaphase | and Il

STHTST FE VARAPISST & g TGEar

T 3fHeeTor §

1. 9fq RIRI$T A Tk gRAcas Jod
IAPIGE TAT g HIRPIE FHATHATE,
e T & deEiie

2. 9 SIRIST A Tk gRATTH JoFd
JIARITIE TUT Ueh SIRIBIS FHATHIH,
1 o AeBEiee

3. Qﬁﬁ%ﬁagagﬁamgw
JIADIGE AT Ueh DRSBTS HATH,
foer Ty’ & SomEiie

4. SfQ FRART AT Uh gRAGTHR g
GIADIGE AT T§ PRGBS LA,
W T AeUEee

Most members of bryophyte phylum

Anthocerophyta are characterized by

1. gametophyte with single chloroplast
per cell and multicellular rhizoids;
sporophyte without stomata.

2. gametophyte with single chloroplast
per cell and unicellular rhizoids;
sporophyte with stomata.

3. gametophyte with multiple chloroplasts
per cell and unicellular rhizoids;
sporophyte without stomata.

4. gametophyte with single chloroplast
per cell and multicellular rhizoids;
sporophyte with stomata.

wTof (TUETHhiA, H3T, IMelhA) TUT 38h

W RE PR (eReed,  fae,

Fefeeh) 3 T o @ g

1 e - g, &3 - TR
ToeHE- Ricieh

2. INCIPA — TR, g3 - e,
TYCH A — TRACTH

3. Mlehid — HefaaT; Hy3i — e,
TYCHTH — TR

4. TNPHA - AT, HI3M- Fe e,
TYCH A — TR
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54.

55.

55.

56.

56.

S7.

Identify the correct match between the animal
(flatworm, earthworm, roundworm) and its body
cavity type (acoelomate, coelomate, pseudo-
coelomate):

1. Roundworm — pseudocoelomate; 57
Earthworm - acoelomate; Flatworm
— coelomate
2. Roundworm — acoelomate;
Earthworm — coelomate; Flatworm —
acoelomate
3. Roundworm — pseudocoelomate;
Earthworm — coelomate; Flatworm —
acoelomate
4. Roundworm —coelomate; Earthworm 58.

— pseudocoelomate; Flatworm —
acoelomate

T egadeon dul # @ Hie-ar arfaedier
@S,  Heer  gregdr W denar Jor
SgdISufas g Yer war § aur o

IEER dqAT A e g 82

1 PRI 2. WEHRHTET R
3. frnfge 4. AAfgE

Which one of the following gymnosperm

phyla produces motile sperms, bears
ovulate and microsporangiate cones ““on
separate plants and has fleshy, ¢coated 59
seeds? '
1. Coniferophyta 2., Cycadophyta

3. Ginkgophyta 4. “Gnetophyta

2014 IUCN &TeT T o 38R, ot HAEeh

Haait # & g ifAhas faerd Therdest 59.
genfaar g2
1. Fder 2. el
3. wigy 4. IHIWR
60.

According to 2014 IUCN Red List, which of
the.following vertebrate classes has the
largest percentage of threatened species?

1. Mammals 2. Birds

3. Reptiles 4.  Amphibians

st el F O TIETdiehy HTEey
oo 1 gufer grar §

(@ dN/dt=rN
(b) Nt = Npe'™

() dN/dt=rN(%F)
(d) dN/dt =rNxN/K

1. aduar ba 2. AT ad
3. AFcH 4, bdyurd &

In the following equations

(@ dN/dt=rN

(b) Nt = Nye™

() dN/dt=rN(ZF)

(d) dN/dt=rNxN/K

exponential population growth is described by
1. aandb. 2. aonly.

3. conly. 4. _bandd.

Y GUTER 9T gaRT &ied, a1, 3 dfaes
A F AeTE g gar?

ASCH 3FATSS

frae

HIEA STTFHTSS

A 3TFHSS

Which gas does NOT contribute to global
warming through its greenhouse effect?
1., Nitrous oxide

2. Methane

3. Carbon dioxide

4. Nitric oxide

> w0 N e

T T gulf Al qou, e g
oY g ¢, TE A Y RET0A gl §
LoEma 2. ¥W A
3. foafest @ 4, ufgrar @

A red coloured tubular flower without any
odour is most likely to be pollinated by

1. Dbeetles. 2. bees.

3. butterflies. 4.  birds.

T aRPufaat # @ la-@r R-TwaeH

T I JeJRicid Al HIcT?

1. 9 &R Y AT HT 6T g R A
HIHA & TG AT 93T B

2. 99 R 3¥F AT IRT Wield H
foarer amgar gl

3. 9 X FI AT HT #AGE Idld T AIs-
UTash & EATeT IWT H T Ul gl

4., I AGT AUl X FT g ARG &
Y TIHA IS T & FT
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60.

61.

61.

62.

62.

63.

Which one of the following conditions is

NOT likely to favour male monogamy?

1.  When the male has to guard his mate
against mating by another male.

2. When the male wants to spend more
time for foraging.

3. When the male has to assist the mate
in brood and nestling care.

4.  When the female guards her mate
against seeking other females to

mate.
g d=e Fod & ARG 1 3ga
wﬁﬁumaﬁ—crg&rr?
1. 9ffgT 2. TS
3. S 4. HSRTH

a

The origin and diversification of Angio-
sperms was during which geological

period?
1. Permian 2. Triassic
3. Jurassic 4. Cretaceous

w e & IR & 5 N @ syt F

q Fl-ar TEr g &2

1. YTehfcieh aXOT & IROMH § %A |

2. %A A 3327 aRa §1

3. UTdhgeh! Pehafhdl & 38 arfd '@
A o a1

4. Ig AETF Ael ¢ foh BAART gHAT
ASER FATUTIFRT H_gRUTfAT grem|

Which of the following statements about

evolution is NOT true?

1. Evolution isthe product of natural
selection.

2. Evolution‘is goal-oriented.

3. Prokaryotes evolve faster than
eukaryotes.

4. %Evolution need not always lead to a
better phenotype.

I & T Ol H I 1 Figar
F HFpod & faU e & & Hla-@m
TeIdH 39T g7

1. TSI 3Eeiyor FIFe &Ry
2. AT FHATCATH

3. pHHAMNA

4. AT ATIT

63.

64.

64.

65.

65.

Which among the following is the simplest
method to estimate the concentration of
glycerol in an aqueous solution of glycerol?
1. UV absorption spectroscopy

2. Gas chromatography

3. pH measurement

4. Viscosity measurement

e Rifsrcar /AT 1 aAcrfas gdefot &

3HTINT TH SH HROT AT EIHT

1. onfr goieT & forelr ST &1 @raaea
gATRAA

2. FIAFBT & FHARIAT SileTrdhr
JifcafFa & 3pma

. PIRAPT & 3T Sl T 3ThY

4., ST & FHGTS® IRUTH TETET
37ctleT ol HfsHror

Application,of gene therapy in clinical

trials.did NOT succeed due to

1. ", poor integration of a gene in the host
genome

2. lack of expression of integrated gene
in cells

3. degradation of gene inside the cell

4. activation of oncogenes consequent
to integration of the gene

el gehgehl & 50 kDa W iffcaFd

el dlel Siled & E. coli ToIfoiAS & 1Y

Folifard fohar a1am, ol 3e=Tgeh T AT

& 3aAdl IPTG A A= 9T 50 kDa Wi

B HYI gl B GRAT| IWIFd G&for hr

ST 5T & & Hia-Ar g2

1 FAfAT IThA H PG IeTshd HT
37T |

2. 40kDa & §3 I E. coli gl S=ITdT|

. SIS aTdr # HAK|

4. 50 kDa 9réleT H chgehl TARNEIUT Tohd
3ufeya

A gene expressing a 50 kDa protein from an
eukaryote was cloned in an E. coli plasmid
under the lac promoter and operator. Upon
addition of IPTG, the 50 kDa protein was not
detected. Which one of the following
explains the above observation?
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1. The cloned sequence lacked the 3. Ty NVUT deURATd AIATHIUT TF
Kozak sequence , )

2. E. coli does not make proteins larger Sl dreor
than 40 kDa 4. ESR TFCrERr

3. Differences in codon preference

4. 50 kDa protein contains a nuclear
localization signal

68. For identification of three proteins moving
together (as a single band) upon loading in a
single lane of a SDS-PAGE gel, the best

66. AOFEEHA HEAR TEWS, S UeY rlnethod is: W .
. N & . . one step Western blot
RO 3 1T a1 ] é? T H FH 2. NMR spectroscopy
e g, fAF gideifasr # @ fhaewr 3. Western blot followed by stripping
fAfSsraor Fxar &7 and reprobing
) N ) ORI 4. ESR spectroscopy
3. R 4. FTAHTSTES 69. FPERITCSESs-3-FrEREEraIoTe &

66. Neomycin phosphortransferase gene, frequently 3 RUCELS %m SAZFAA
used as a selection marker during plant trans- Taeyas m & & &= &2

formation, inactivates which one of the 1. Yc 2. ¥

67.

67.

68.

following antibiotics?
1.  Hygromycin
3. Streptomycin

2. Ampicillin
4. Kanamycin

T @ VAN H HATT UG e Sohl A
1000 & 3 fadfed: FfFcgad Siar &r
Ugdlel gq faF dehellent & & 3T fohaehr

3UINET HEN

1. RAPD

2. TS\ 3rgshaoT

3. CchipTd

4. ciffpeeid fagervor

Which one of thesfollowing techniques
will you use to identify more than 1000
differentially expressed genes in normal
and  tumor¢., tissues in  one single
experiment?

1. RAPD

2. _{enome sequencing

3. ChlPassay

4. “Transcriptome analysis

SDS-PAGE SieT & THATT Y W HROT el
W dT T, St arg-ary afafe 8, (TR
& 45 & FT H) H ggarT & v AssaH
39T &

1. U TROT ITCaT MNVOT

2. NMR Tdagredr

69.

70.

70.

3. 32P 4. l3l|

Which isotope below is best suited for
metabolic labelling of glyceraldehyde-3-
phospho-dehydrogenase?

1 14C 2 125|

3. %p 4, 1

TS WET &1 3l ufa §ftd A e A
T FIFA-IT A9ET Sar &2

1 gIred ofdet e
2. SSHCPISS 3TEEr
3. 3mafa ufFEer e
4. AT Y@ THAT 30l
Which one of the following would
contribute to intrinsic fluorescence to a
protein?
1. aromatic amino acids
disulfide bonds

2
3. charged amino acids
4. branched chain amino acids
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HIT \PART 'C'

71. FT HUAT F F FiA-A7 TG 2

1. | L-ufdat 3rdt & A3 ¢ @ieeT
AT ST TEr B

2. 21 3l TS gaor g B

3. e & TARISE ¢aur goled D-Tofhld
Td D-fhereid & faflse yaor guist &
ITHel BRI

4. Sig Efceal & gufhd Hrewersise
Pl A goh &l

71. Which one of the following statements

is correct?

1. Inall L-amino acids, only the C*
carbon atom is chiral

2. Deoxyribose is optically inactive

3. The specific rotation of sucrose will be
the sum of the specific rotations of D-
glucose and D-fructose

4. Phosphatidyl choline isolated from
biological membranes is optically
active

72. Freel W& 3dgedt Sifoer A HNd
g ¥ gw R e R as
gRafed giad &1 Bieel WM& Qea. & fow
Fr R gREFeTa3T H T/ Th g TAaHddar
AT, AT THHR UR:Eeell HIET Feobl
WA T Bfeerdi & faarera gha|
3R T R deToT Y fohdr I &

A. I 9T IR-NANeol Bifeedl & W= &
IR-Teell HIET Yged Rifeoar #
A, F IR-Froel 79T F TR ¢

Bo.&famRd $r Aler$ &I FHroela Hr
sureufd serdr gl

C. Mol dar Yged RHfeaai &
HEHTAE serae TAT gl

T FYaT H§ I HIT-T1 T Tar 87

1. Mool BNfeeral & T 6 36T
Yoo Rfeeral & WEET & &Yay uiR-
Breal #1191 81 81

72.

73.

2. vgex Rfcaal & Ndar fr 3meT
Moot Bfeeral 7 NEAT F IR IR-
fSreel #mr g1 &

3. dMeal aur ygeg @ifeert, g &
N & IR Breer 1T FAH £

4. vgeT Breel FI 38T Moo Breel &
Frorrerer 3ifa® gl

Membrane proteins are synthesized on

endoplasmic reticulum and _transported to

various organelle membranes:' One. hypothesis

for membrane protein sorting,is-hydrophobicity

matching i.e., the proteins 'with a shorter

transmembrane portion would partition into

thinner membranes.

You are given the following three observations

A. It was found that transmembrane portions
of proteins inyGolgi membranes are shorter
than thosesin plasma membranes

B. Presence of cholesterol increases the
thickness of the bilayer

C. The phospholipid composition of Golgi and
plasma membranes are same

Which one of the following statements is correct?

1. Proteins in plasma membrane have longer
transmembrane portion than proteins in Golgi
membranes

2. Proteins in Golgi membranes have longer
transmembrane portion than proteins in
plasma membranes

3. Proteins of both Golgi and plasmame-
mbranes have same length of transmembrane
portion

4. Cholesterol is more in Golgi membrane
than in plasma membrane

Thaalel UfaRell X & 3fteaas a9 &
Rl 9 & IR Uehd UMHAT 3FoT
3c9Radl (@ ¥ d ) A I JAT E. coli
CIECSETER] ¥ IR DA W 3fReged
#d IR E. coli Hauf & 9 s orsdct A
SDS-PAGE gel X Tl AT @2l YgURdTd
ASE-Aocleilel Bioel W ETARIARA  fhd
I JUT ToF PR & Ul & @rh grel
T Thaadlal el X & 39306 ¥ a&e
M Y 77| aRome e =T & geda

Y =
a b c d wt
— == | MoONoOCclonal

—_ — — —— ——/|Loadcontrol
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73.

74.

IR Uehel 3cURdcH, 3hAT W, 9 T
& Joild (V)T Tl (A); TomsdT (G)
T WelieT (P); T (A) ¥ TEAeh 37T
(D) T 3MSHCTHA (1) & wgHT (L) |

et Fuat § ¥ FiT-ar vH @ 2

1. V— A% SRUT b §dUTG—P & FHRUTC F|

2. G P& HRUTh T dAd VoA &
FROT d gl

3. 1> L% &RUT dg dUT A—D &
FRUT a gl

4. V— A% RO ¢ §dATI — L& HRTagl

Four single amino acid mutants (a to d) of a
protein in the epitope-region of a monoclonal
antibody X were made and expressed in E.
coli. The lysates from the four E. coli cultures
expressing these four proteins were run or an
SDS-PAGE gel and subsequently transferred
to nitrocellulose membrane and Western
blotted using a monoclonal antibody X raised
against the wild type protein. The results are
presented in the figure below

a b c d wt

Monoclonal
Load control

The four single mutation, upon

sequencing, were found _to “be Valine
(V) to Alanine (A); Glyeine (G) to Proline
(P); Alanine (A) to Asparticsacid (D) and
isoleucine (1) to leucine (L).

Which one of the following statements

is correct?

1. bisduete— A and cis due to G —P
2. bisdueto G — PanddisduetoV —A
3. disdueto!l — Landais dueto A —D
4ocisduetoV — Aandaisduetol — L

el afod Wde & g gfade o sEd

8h-81eh 9y ST Hehdl &

1. Taffest pH quT dEl W 387 9=t =l
Fecll faauTdr auTATeT & faders ganTl

2. W& & D0 & WY IR W SYARIA
& @y [(fEEg #&=d NS BoFEar &
3Tehelel EaRT|

74.

75.

75.

76.

3. 9 & Y A, W Jadd 7T &
faeeroT ganT|

4. 3= fO%ead W X-fafewor Rade garr
ST & aRiY IR FhieH TXAeT &
faeersoT ganT|

The exact backbone dihedral angles in a folded

protein can be obtained by

1. deconvolution of its circular dichroism
spectra obtained at different pHwand
temperature

2. estimating the number of protons that
exchange with deuterium on treating the
protein with D,O

3. forming fibres of the protein and analyzing
the fibre diffraction"pattern

4. analysis of the crystal structure of the
proteinbtained by X-ray diffraction at high
resolutions

ggRde fFad (PK) & R & R T e

foiFstad gl

A PATPE PK &l U IqEAfIF HeAS

B. Whaclel 1, 6 SISHIEhe PK &7 Th
aferaes gl

C. ADPg PK &I Ueh NREUTF TSHS

D. Tdlelel § PK & Teh REAfcsh Algelh

IRIFT HYAT A F FleA-AT Th Tel g2
1. ABC 2. ABD
3. B,C,D 4. AT A

The following are the statements about

pyruvate kinase (PK).

A. ATP is an allosteric inhibitor of PK

B. Fructose 1, 6 biphosphate is an activator
of PK

C. ADP is an allosteric inhibitor of PK

D. Alanine is an allosteric modulator of PK

Which of the above statement(s) are true?
1. ABC 2. ABD
3. BC,D 4. only A

T S waTT Io W oA Srer faganedf
afshd FARTOTRIAT T IYANT Fh 914 ATP
AT &l AR R @ A Fo e
o et & @ U A U g A fAemar
A. STSHTSEIRI=TeT (DNP), Tsh 31gIHh

B. HATEIH HI He FFcllhor
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76.

17.

77.

C. Feffeaatie, St ekl faifeerat s arereg
AT

D. sfoar, e I S s Ber
IREFT H' A

YU H fhaH, ATP H2AWoT g fomar

IT?

1. A 2. B
3. C 4. D

A practical class was going on where the

students were demonstrating ATP synthesis in

vitro using active mitochondria. Some

students added one of the following to their

tubes

A. Dinitrophenol (DNP), an uncoupler

B. Mild acidification of the medium

C. Glutilferone, that permeabilizes both the
membranes

D. An outer membrane permeable H*
quencher compound, Elila

In which one of the above, ATP synthesis will

be detected?

1. A 2. B

3. C 4. D

Rl TaY ATIA F e FlaeT TId §, oI

q e Gl (Tofhle) TUT GEN AT

(Sereier) @a g1 3@ #eyd # Hafdad B

coli & fa&rg ash H ypfd & a9 &

T § 9 Hia-T1 v o 82

1. fara g agr grem S fob AT Tofshiel
$r ultyfa 7 Rl

2. AT g% a@r ghm o & AT o
#r sufeufa ¥ fasaal

3. & TUichl AT & a1 Th gRadT
ITaEYT &I U&T0T g |

4. @ =RETATR 9TaEATT & I g gewdr
WIGEAT3T T V8TOT BYarm|

A culture medium contains two carbon

sources, one is preferred carbon source

(glucose) and the second is a non-preferred

source (lactose).

Which one below is correct regarding the

nature of growth curve of E. coli cultured

in this medium?

1. Growth curve will be same as when
grown in presence of only glucose.

2. Growth curve will be same as when
grown in presence of only lactose.

3. A lag phase will be observed between the
two exponential phases.

4. Two lag phases will be observed between
the two exponential phases.

78. o HYA H A HlA-HT Teh G IicTged
Sl & I Jefaried W= R qE e
& 82
1. FfAFGe WET ST grAlT 9RoT Y
3IShAT Ta®Y HIRAhlhesh TRl Tadd
g &l

2. AGSEL, Uged Brecl-amaed
HIART W ATETT_ e |

3. 3idgedl SAforer JaHIfAFT SarT
HITAFIhadh (o diadd Jcld, Fifeh
3TaeRTTNeRT eI fRIhIhadh & X fSieell
3T & G "@ue H g

4. FiFFgAHAT W dafegd gl 91|

78."Which one of the following statements correctly
applies to proteins which are translated on the
rough endoplasmic reticulum?

1. Cytoplasmic proteins which are targeted
to the nucleus in response to hormone
stimuli.

2. Proteins targeted to lysosomes, plasma
membrane and cell exterior.

3. Proteins which are targeted to the nucleus
through endoplasmic reticulum lumen as
the lumen is in direct connection with the
inter membrane space of the nucleus .

4. All proteins which get targeted to
peroxisomes.

79. NG Ud FHloEerd, all J AT 987
TR &1 I3 WA F FloeRTd T 9HE
A femar § ife W@ oerar § & aar
a3 3 IAeAfd # e S| @ a3r
N WA & oAU N AT &
FROT & IR H 3TTHr F7 7T g2
1. 3@ gfowd # hergar $r arfaefierar
FI FET HH FAT gl

2. Froreia I 3ufeafa d Fhamaar &
g6d MY &g ©F gav & gfawid
ad gl

3. Tredh & Porectiar o€ 3w goot &
Y AT fhaT FIAT B
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79.

80.

80.

4. TEhaadr & Fed MY TGl & A qeid
R TUT=Al &l Tl Hleleeie 370]
A &, o fATRoT g

Lipid rafts are rich in both sphingolipids and
cholesterol. Cholesterol plays a central
role in raft formation since lipid rafts
apparently do not form in its absence. Why do
you think cholesterol is essential for the
formation of lipid rafts?

1. Cholesterol decreases the mobility of
sphingolipids in the lipid bilayer.

2. Large head groups of sphingolipids repel
each other in presence of cholesterol.

3. Cholesterol interacts with fatty acid tails
in the membrane.

4. The planar cholesterol molecules are
postulated to fill the voids that form
underneath the large head groups of the
sphingolipids.

TFHOERT W odalkad dF 9dEt & i
HIesT fAFTad &

) |

Mature protein |

Matrix protease cleavage site

~— il

Matrix protease  Inner membrane Hydrophobic
cleavage site protease site region

o )

Interacts with outer membrane import pore

® |

3WFd T # G, 9d 6T &
IMUR W, dUT Ig Ay [ a-ff s &l
YIARUIRIT  Aleal, Tehd 8, IAPIOAI &
3 W, 3UWS HT At Ffor et
GIEleT T, S|

1OvA 3T #; B HTdRe el H; C 37aR-
fSreal T &

2. A3aRe® Bree #; B 3a-Bree 37aud
H; C e Beell &

. ATUT B3MUET H; C e Been A

4. A UTET H, B dUT C AR-Breall 3Tl
=

Following is the domain organization of three

proteins that are targeted to the
mitochondria.

81.

) |

Mature protein |

Matrix protease cleavage site

~— il

Matrix protease Inner membrane Hydrophobic
cleavage site protease site region

® |

o Ly |

Interacts with outer membrane import pore

Based on the domain organization in the

above figure and assuming the leftsbox to be

having the mitochondrial serting “signal,

predict the most likely sub-compartment of

the mitochondria in which the,protein will be

found.

1. A in matrix; B inflinnermembrane; C in
inter-membrane space

2. Ain inner membrane; B in inter-
membrane space; C in outer membrane

3. Aand B are/in matrix; C in outer
membrane

4. A in matrix; B and C are in inter-
membrane space

UN asgiee a1 AR gaeafaes BN
iafafeq arecgw & FREET & [eaa
Th 39 fonell Sfiamo] & DNA - &
RAffaa frar g1 se@ AfaRed 3maa g
3aafadt @ g DNA T 3efer fhar g aur
3R CsCl Oelcd YIUTAT  ThGIaRoT &
37efieT, HThgeh TS & 3TeleT AT W DNA
& gooh (“N) dum #RY (°N) FOT T G
fRar &1 3eTer AT & uger N iafafea
aregd # Sfa] Aefdd & & aifs
HIARIAT F TAT T FHT DNA 9T &9 H
gl dcueard s HAFBT & AT N
3afafed ATETA H TATAROT fohar am=m |,
aur v N T PRt B Qg g8
f&ar =T DNAs 3% e s g
SRIFATER  CsCl FaUTeT #, 3dehiad fohdr
IAIBN dar “N DNA §3F & &g td 399
A gl W T d o5 ufera fohar am)
IWIFd J&T0T & IR | foarar fasest &
¥ Fld-AT Th LT 87

1. DNAYfafdae a3l gl

2. DNAWTHaae 3-aaf g

3. DNA gfdepfca= gRerdr g

4. god god VA F AR gfdpioae
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81.

82.

82.

You have labelled DNA in a bacterium by
growing cells in medium containing either
“N nitrogen or the heavier isotope, “N.
Furthermore, you have isolated pure DNA
from these organisms, and subjected it to
CsCl density gradient centrifugation leading
to their separation of light (**N) and heavy
(*N) forms of DNA to different locations
in the centrifuge tube. In the next experiment,
bacteria were grown first in medium
containing N, so that all the DNA made by
cells will be in heavy form. Then these
cells were transferred to medium containing
only N and allowed the cells to divide for
one generation. DNAs were extracted and
centrifuged as above in the CsCl gradient. A
hybrid DNA band was observed at a position
located between and equidistant from the
N and "N DNA bands. Based on the above
observation, which one of the following
conclusions is correct?

1. Replication of DNA is conservative

2. Replication of DNA is semi-conservative
3. Replication of DNA is dispersive

4. Replication by rolling circle mode

THIACT $[ATCA Teh METEr H AR Hr
INETRAT (FAFAON Feehieh) PR Th Y
afe @ 3Mhfdld A T Th FrAUsas
39T Bl duEh gRAT & Thd H Aol
H“dqwiqw?ﬂ'quqﬁ{mﬂa?a?W%ﬂ',
Tha faed s Sa FUEn, aEgEe
ST PRI T A, TgaTll &
for 3R Raa €13 sfaa foear
T & 25,000, HIfNFHT HF# & AT 3
FAFIT ST B T AR g7 M
graear 30fAwe, dh feahdr 8, aues gfear
& TgHd HRRST Th 1 lewehe 3Gt
FI_IRehelel FHIfTA?

1. 76 EC 2.
3. 429¢ 4,

50 €
21°e

The frequency of cells in a population that are
undergoing mitosis (the mitotic index) is a
convenient way to estimate the length of the
cell cycle. In order to measure the cell
cycle in the liver of the adult mouse by
measuring the mitotic index, liver slices are
prepared and stained to easily identify cells
undergoing mitosis. It was observed that
only 3 out of 25,000 cells are found to

83.

83.

be undergoing mitosis. Assuming that M
phase lasts 30 minutes, calculate the
approximate length of the cell cycle in the
liver of an adult mouse?

1. 76 hours 2.
3. 42 hours 4,

50 hours
21 hours

YT HITART A 3R TSI [FordIHSS

TIBERS (ANTPs) & 10-37=1T 3if&eh Algr #

TSl FelAATSs CABREhS (rNTPs) 39TEd

g, dufr 3 DNA# sg aifq & 3idfafed ga

€ ST dNTPs &1 il 7 1000-[T & 37feh

A gl TE $H PRI &

1. DNA UiforeRst dNTPs Jar rNTPs & &
fafaerchiertor Z7gT -&hdTl g DNA
Y@ #A NTPs & FATASC gd &1, 2'-
OHFHE AT 3ulRUfd & FROT I el
yugfed & o &

2. DNA HifelesT dNTPs dar rNTPs & &
fafaerciertor w7gT X TehdTl g DNA
Y@ H (NTPs & FATIASC &Id €1, DNA
difestst T gw-arae afafafer ganr
Fe Adrer 9§

3. DNAUifeleRet dNTPsaaT rNTPs & o
GTHAdS fafaerciehRor &Yar & it
3HHT fFedIciss T S, e 3T
gfFerACSs W Teh 2'-OH T FATASTA
ST T FehT|

4. DNATUIFRS dNTPs @2 rNTPs &
g fAfaeFdiaor 8T X ThaT| FiTh
HIRAAT F IeJel@el T Ffcpiaaer arfa
¥ 10°90T1 O 8, g8 rNTPs & T RNA
Gifod ST & AT TUGT 18T HT ThdT|

Although ribonucleoside  triphosphates

(rNTPs) are present at approximately 10-fold

higher  concentration than  deoxyribo-

nucleoside triphosphates (dNTPs) in the cell,

but they are incorporated into DNA at a rate

that is more than 1000-fold lower than

dNTPs. This is because

1. DNA polymerase cannot discriminate
between dNTPs and rNTPs. But as soon
as rNTPs are incorporated in the DNA
chain, they are hydrolyzed due to the
presence of 2'-OH group.

2. DNA polymerase cannot discriminate
between dNTPs and rNTPs. But as soon
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as rNTPs are incorporated in the DNA
chain, they are excised by the proof
reading activity of DNA polymerase.

3. DNA polymerase efficiently
discriminates between rNTPs and dNTPs,
because its nucleotide binding pocket
cannot accommodate a 2'-OH on the
incoming nucleotide.

4. DNA polymerase cannot discriminate
between rNTPs and dNTPs. Since the
rate of transcription in cell is 10° times
faster than replication, it cannot compete
with RNA polymerase for rNTPs.

84. Ecoli &I oA effagur  Ifafafer
HIAfafSed &R, ST DNA difeleRsl &1 -
g At gaRT gerd Ad I, H
SfgUR X g1 dum, W X ' Y, 39
Ig AU T 93ar § & DNA &1 Hia-ar
ool AGHINT § TqUr HiA-AT Seh gl
et ARl & @ fhE T @R FIFHA
GfagUR a7 Ig X 9T g2
1. g @AY & GATC 3elshH HI Tgelelcl &l
2. dg AT & frdr faeiAEThA A
TETACT &

3. ag frdlr fafrse geRrradt Jregsher &
TETACT &

4. 9% HAT & 3 ARAAHTGATC HefhA
&I qgaAd ¢l

84. The mismatch repair activity,of E.coli repairs
misincorporated bases which is not removed
by the proofreading wactivity of DNA
polymerase. ¢However, while doing so, it
has to decide which strand of the DNA is
newly synthesized and which one is parental.
Mismatch repair system does it by which one
of the following ways?

1. ltrecognizes nearby GATC sequence.

2.% It recognizes any nearby palindromic
sequence.

3. It recognises a specific repetitive
sequence.

4. It recognises the hemi-methylated GATC
sequence nearby.

85. ;IfIAT H 3curied Affed TR & RNAs
(TIH A) dUT 31 Yhd (TAH B), et
g & ifha ¥, ARk a8 HA 7 G

85,

86.

EH A A B
A. SnRNAs (i) gRld mRNAs & 3raeh¥or
HI ATGRIT I SileT
JifAcaiFa a1 dg el
B. si RNAs (i) ad mRNAs & HeIarest
FI ke S JfHeafed
Fr Ao
C. mi RNAs (iii) 9@ MRNA & HHATUH &
qr-ary Afdeer, gfsharai
H g
D. SnoRNAs | (jy) rRNAS & \&amere 2T
3R TER—ST: gRafdd
FL A 3TAREN|
TEN TSI e

1. A<(iv), B=(ii);.C(i), D-(iii)
2. A-(iii), Bi), C~(ii), D-(iv)
3. As(iv), B-(1), C-(ii), D~(iii)
4. A(iii), B-(ii), C-(i), D-(iv)

Enlisted below are different types of RNAs
produced in the cell (Column A) and their
functions (Column B), but not in the same
order.

Column A Column B

A. Sn RNAs (i) turn off gene expression
by directing degradation

of selective mRNAs.

B. si RNAs (ii) regulate gene expression
by blocking translation

of selective mMRNAs.

C. mi RNAs (iii) function in a variety of
processes including

splicing of pre-mRNA.

D. Sno RNAs | (iv) used to process and
chemically modify

rRNAS.

Choose the correct combination
1. A-(iv), B-(ii), C-(i), D-(iii)
2. A-(iii), B-(i), C-(ii), D-(iv)
3. A-(iv), B-(i), C-(ii), D-(iii)
4.  A-(iii), B-(ii), C-(i), D-(iv)

qiahgihdl  H YRS  tRNA &I Jgo
AT T IKARNT ohar J1ar §, deaAaR
Teoll$H  Met-tRNA  TRERIGATSST  GaRT
HARAAAST & WY TF FAG T H AT
ST &1 30 Hedl # & Sy fored o
gl
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86.

87.

A. T grFhgdT WA & 3% TiRET-fEaRT
3id #H wifad AfEsT ga §

B. et RoRT AR ¥ wider g
&I SwfFeT gerdr gl

C. T Urdchgahl WICIAT H 3oTeh TAAT
faRr 37 & AT A E

D. uffiet fowr AfRiaTET A raT
TfAaesad g €

E. ufaar R wide Afddsa &t
ufaanifesaq e £

HIA-AT (H) HUT Hcdd TITAHhd: el o/s ?

1. AT A 2. BAAT C

3. AME 4. BAAT D

In prokaryotes, the initiatior t-RNA is first

charged with a methionine, followed by the

addition of a formyl group to the methionine

by the enzyme Met-tRNA transformylase.

Given below are several statements in this

context.

A. All prokaryotic proteins have formyl
methionine at their amino-terminal end.

B. Deformylase removes the formyl group
from the amino terminal methionine.

C. All prokaryotic proteins have methionine
at their amino terminal end.

D. Aminopeptidases often remove the.amino
terminal methionine.

E. Aminopeptidases remove amino terminal
formyl methionine.

Which of the above statement(s).are most

likely to be true?

1. Aonly 2.

3. Eonly 4,

BandC
Band D

TfAAr 3 X F Teewur # gfFafad e
gReTeufae. Uares, X° T 3Feq HAET dr
3YREYFT & “ON (3eelEl) dAur X* &I T2
HEL T 3T F OFF (3efeldl =Tgl) Tger
g 9w a b dw ¢ Re difaer #H)
glafafcs a0 & X & v & fov
THh JTAcHAS Sl (X-TAAST), varess 9id
TAT GHAARRT FI HIfSd X ST &I, elfehet
3MaRTHd: 30 HH H gi| 9T 3ndal b,
STeT Heieh ged YR YAl YU SHevEd
#r Afdse wa § XA, yaes gid
T HTHE F v Fa-g AT ¥ s
JgdTel Y

87.

gfie  phausa | X-fEder sifafafer sadr

3afeufa &

‘X’ T X Hr

Heq AET | TR AT
1. ab'c’ Farea FareT
2. ab'c w?%?r w?%?r
3 [0bc | s | s
4. a'b’c’/ wéa 3.1@-\;@3
5. Z*E{/ Tgfa ey
6. :+E+<C:+/ FaRa Faraa

abc o o

X — [T, TdTels Iid_Ud GHIPRI & Silel

A &

1. ab,c 2. ¢ab

3. bca 4. b,ac

A hypothetical operon involved in the

synthesis” of an amino acid ‘X’ is ‘ON’
(transeribing) in the presence of low
levels of ‘X’ and ‘OFF’ (not transcribing) in
presence of high level of ‘X’. The symbols a,
b and c¢ (in the table below) represents a
structural gene for the synthesis of X (X-
synthase), the operator region and gene
encoding the repressor— but not necessarily in
that order. From the following data, in
which superscripts denote wild type or
defective genotype, identify which are the
genes for X-synthase, operator region
and the repressor.

Strain [Genotype | X-synthase activity in
the presence of
Low level | High level
of ‘X’ of ‘X’
1. ab’c Detected Detected
2. a’b'c Detected Detected
3. a'bc Not Not
detected detected
4. a'b'c’/ Detected Not
abc detected
5. a’b'c/ Detected Not
abc’ detected
6. ab’c’/ Detected Detected
a'bc

The respective genes for ‘X’ — synthase, the
operator region and repressor are
1. ab,c 2.
3. b,ca 4,
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88.

88.

89.

frdr 9T & IR AW HRdT  dle
TEgT-Hdeaele Tl &, S cftad &
Yy Sivfed WX Yeerss TSI AL Ay Ag A T
As # qRUIfAT ga g1 dweEs A, dar A
wAw: N gqur cfRr st &
gfafafca wwa &1 319 3TURr Hgl ST §
fF 30 W @ FW@IVOT HY| FAT t=0 W
3 g3l 20 vfAA-3ar, St Y@ RftEa
¥ o AR gur GeeNeT gRe fRar §H g
t=4 W O dddare N 1 HA0T
B3| A 3T AT t= 1 N FRAYT FN A
g, aur e Fr eEfad & @iy Sfive
ad, g dergs & 3Taan “cC e, 3=ar

#r GEEll H ghem?
1. A; 2. A
3. A, 4. A,

A protein has 4 equally spaced trypsin
sensitive sites which results in peptide
fragments A;, A, As; A, and As upon
digestion with trypsin. The peptides A, and
As represents N-terminal and C-terminal
fragments respectively. Now you are asked to
synthesise this protein. At time t =_0
you added all the 20 amino acids labelled
with C and initiated the synthesis. At
time t = 4, full length protein is synthesized.
If you stop the synthesis of “theprotein in
time t = 1 and digest the protein with trypsin,
which peptide will havel maximum *C
label than others?

1. A; 2 A

3. A 4. A,

e ATET P, F aX A Y 1 e

FUAT H_ T PiA-8T Th TaI A8l 82

1. TG §HA FHifApIfaerdy gid &, STer o
JT9-9Emd M & Ty FIFA T &
gar N-RRr g & R dereair-3naysT
oid 3@ gl

2. FEN C, IMCHI FHAHTT T HefaTofr
geRIged WA &l

3. W AT ol HAGTAAT 3¥ar favHAe A
g §, dur 3% gl Foreer H
yquiedfa &, fawa gfacd o
ool Gel HT SHA A §, oI d 3Tl
3gfshar 3agd 4 §fed g

89.

90.

4. anfeat &1 fawx §dar &1 & Iefady
N-fT 9id § 21 388 DNA- T
HoATA-3TEE Uil & &SI Teh hgahld
FATAIRIOT 37dfase g ThaT &l

Which one of the following statements about
the nuclear receptor superfamily is NOT
true?

1. The receptors are always cytosolic, where
they remain associated with heat-shock
proteins and have variable ligand hinding
domains in the N-terminaliregion.

2. The receptors have characteristic repeat
of the C, zinc-finger motif

3. The receptors are'either homodimeric or
heterodimeric, anduin.the absence of their
hormone ligand, the heterodimeric
receptors‘repress transcription, when
bound totheir response elements.

4. The receptors have a unique N-terminal
region of variable length and may contain
a huclear localization signal between the
DNA- and ligand-binding domains.

Sl I ALY YeTed el H HIRABBT F
da #ifads  Feedaar Hdd Agcaqel gl
FATHT 3The AT Fant H [AfFes #ifas
PIRAAT GRAT F 39 grafPE gt &
3TER qafichel fohaT SITaT &1 fee arforer &
T AH frdr [AaRIse dfer @1 veHE ged
dur TEH B A R GO wedd
Y I

TEH A

sumer Frreat ()
& ST & FaATA Fr
§¢ T §

foell IfRIeAT o (i)
UfFee dq qel
37Tl ITRIHT &
UfFesT 97 I &
SIS &

ferely hIfrenr Y (iif)
AEIAT TG A
3T IR
HEIA A @
GIERIR

F HY
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D.

forely IRIsT (iv)
AEFAl I3 A
eI TRARIT JTeTT
¥ R ar &

90.

TE WS & g |

1. A—(i), B—(ii), C — (iii), D - (iv)
2. A—(ii), B (iii), C— (iv), D (i)
3. A—(iii), B (iv), C - (i), D (i)
4. A—(iv), B - (i), C — (ii), D - (iii)

Physical attachment between cells is very
important in imparting strength in tissues.
Various physical cell junctions in vertebrate
epithelial tissues are classified according
to their primary functions. Enlisted below in
column A is the major function of a particular
junction and column B enlists cell junctions,
but not in the same order.

ColumnA | | ColumnB
A. | Seals gap between |(i) | Desmosomes
epithelial cells
B. | Connects actin (ii) | Hemidesmosomes
filament bundle in
one cell with that
in the next cell
C. | Connects (iii)| Tight junction
intermediate
filaments in one
cell to those in the
next cell
D. | Anchors (iv)| Adherens junction
intermediate
filaments in a cell
to extracellular
matrix
Choose the correct combination.
1. A—(i), B—(ii), C —(iii), D — (iv)
2. A=), B—(iii),C—(iv),D-()
3 A= (i), B—(iv), C—(i), D—(ii)
4. A= (iv), B—(i), C—(ii), D — (iii)
91. G Fofard  afegdt  (GPCR) & el

WEA 3U-gHEA g o, P AU y. LA
HIEIT H o 3USHs GDP H&EfOd § doar
GPCR AT 1 5§ GPCR &1 |fhIor grdr
g, g8 I3 ~afdordierss fafama wRe
(GEF) & RE FH T §, JUT o-3USHE
HI el ST GDP I HFd Fal IR
FAT &, TorEd 38T SHE GTP YT g

91.

92.

92.

&l &1 GDP/GTP Wigar3il & fag=or ganr
G- W& Afaflf™ & FElHT =a & v
o- 3USHIS 3T YhR HIHA HdT g

1. GTPTH

2. GDPfaw

3. cGMP-TAfse BRBISETTELST

4. cAMP- faferse BRBIEETERS

G-protein coupled receptors (GPCR) consist
of three protein subunits o, B and y. In
unstimulated state, o subunityis GDP bound
and GPCR is inactive. When  GPCR gets
activated, it acts like ‘guanine nucleotide
exchange (GEF) factor and induces o-subunit
to release its bound GDP allowing GTP to
bind in its place. In, order to regulate G-
protein activity “by regulating GDP/GTP
concentration; o subunit acts as

1. GIPase

2. GDPkinase

3™, cGMP-specific phosphodiesterase

4, CAMP-specific phosphodiesterase

3e faten Wé p53 T wIRIHT AMET
giafFafes foaa Nd= Mdm2 arT sras
@1 ST g1 I 9/ 1 o Mdm2 Fr 3ifa
dffcafda e T@Ey SR @ FW
PIABIAT H ded ST &, p53 &I
HEATASIOT @Il THh AR WIS p19ARF
Mdm2 &1 arfafafer & defaa swar § aur
p53 HI TIRT T gl pl9*RF & Y& &
T g ¥ o Tary SRl FR
FITAAT 7 gREfdT gl &1 IRIFa gaar
F IR W o AT § & HA-AT Th
FUT Tl 82
1. MDM2@T pl9ARF, Eit 3reeste gl
2. MDM2adYr pl9ARF, @i 3ide foRieh
Siet Bl
3. MDM2 U 3qesilel § W pl19*RF weh
3e RS S gl
4. pl9ARF U 3reesllel § T MDM2 Tsh
3e RS S gl

Cellular level of tumour suppressor protein
p53 is maintained by the ubiquitin  ligase
protein, Mdm2. Over expression of Mdm2
was found to convert a normal cell into cancer
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93.

93.

cells by destabilizing p53. Another protein

p19ARF inhibits the activity of Mdm2 thus

stabilizing p53. Loss of p192RF function also

converts normal cells into cancer cells. Based

on the above information, which one of the

following statements is correct?

1. Both MDM2 and p194RF are oncogenes.

2. Both MDM2 and p192RFare tumour
suppressor genes.

3. MDM2 is an oncogene but p194RF is a
tumor suppressor gene.

4. p192RF js an oncogene but MDM2 is a
tumor suppressor gene.

guesfed ¢ AWy & Rew Jfea Hiftes
fcReT 3rgfohar dUT FAY & 1T A1 FeY,
HHAUT & 9RUMH FT Hifde FAuRE B
T | 7 HIABg FlcRET eIfohar &

gfafafer g g TaAT & e aRom

w1 A gl
T | e 1
O (i) Acute
(A)
i
Time
(8) (ii) "Resolution
g
|
8
3

¢

Time

@ (iii) Chronic

Response
—_—

Time

ASSAH HHT TASTA Y oA
1. A—(ii), B — (iii), C - (i)
2. A—(i), B - (iii), C — (ii)
3. A—(iii), B — (i), C — (i)
4. A—(i), B—(ii), C — (iii)

The relation between cellular immune
response generated against hepatitis C virus is
the critical determinant of the outcome of
infection. Given below are the representative
figures of cellular immune response in

94.

column I and various outcome of infection in
column II.

Column | Column 11

0—0 Viral load
X—X T cell response

(i) Acute

Response
—_

Time

(B

(i1),Resolution

Response
 —

]

Time

G}

(iii) Chronic

Response
—

Time

Choose the best possible combination
1. A—(ii), B—(iii), C—(i)
2. A—(i), B—(iii), C—(ii)
3. A—(iii), B—(ii), C—(i)
4. A-—(i), B—(ii), C—(iii)

MR ga dur R &t H 9 AT arelr
gferfarat & faffiea 3uast gia &1 7 3uqef
Wa@ﬁ@mmmﬁaglwﬁlﬁ
afdes 3uaell & 9@ g aUr T 1A
3Ugalt & ATH A dllo{%lﬁ&l(—dd%’
A | & 1l
A |F, qamr et | O | 10A
T e §
B |aree ;fRrast qar (i) | 19D
TR & arerd &
C lget B FITRIFT I (i) | IgE
D wfawe svs & smar | (V) | 166G
I A T fafrse
ST FE
E  |eorsrAer Rreeh &1 @ | (V) | 1gM

T HS -

1. A-(i),B- (||) C — (iii), D — (iv), E— (v)
2. A—(ii), B—(iii), C—(iv), D — (v), E- (i)
3. A—(iii), B—(iv), C—(v), D— (i), E-(ii)
4. A—(iv), B —(iii), C —(v), D — (ii), E- (i)
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94. There are various subclasses of antibodies
found in body fluids and body secretions.
Many different functions may be attributed to
these subclasses. Given below in column |
is major functions of different subclasses and
column 1l consists of the name of the
subclass.

Column | Column Il
A | Binds to macrophages | (i) IgA
by F.

B | Binds to mast cells (i) IgbD
and basophils
C | First B cell receptor @iii) | IgE
D | No major specific (iv) | 1gG
function known other
than antigen binding

E | Protector of mucous (V) IgM
membrane

Select the correct combination:

1. A-—(i), B—(ii), C—(iii), D —(iv), E- ()
2. A—(ii), B—(iii), C—(iv), D — (v), E- (i)
3. A—(iii), B—(iv), C—(v), D— (i), E- (i)
4. A—(iv), B (iii), C —(v), D — (i), E- (i)

95. A & ERreT IRd edlafshar & &
THE YRR § Iald U IHearde
AT hary | HITART T TAT FE FAT
el PR & F& 0T AT JoIar fFeeida
€ IR T S gdl ASee @ S g,
gAe & fAT geagred Ry S Eha-g, Ser
d YA Hel N & HGAR TGN A g
TS WX o gl ATSelofel, d e oo fohar
ST Fehell &, Hel HIRABBH BN IIod el &
fow| wIferr g @ e, Hqel HifARBET
T AT GURANH fadtest ofarcat, S 3oe
Aol A @ M et €, sifaRerdd: aRa
RS Fhar &1 FIRST G qAwr qAT
FIRAPIBT T FagR fha di=gfhar @
e 82
1. IRIAT G Td T HIRASHE, et egeei
3 ishaT el B

2. S dA AT I g §
Stafeh 7T PRAR HFATTA I fohar
celtelr &

3. AT 9 IFAIA e eafshar geiid g,
SR T PR I St
el g1

4. el GHR I HIRIGR HeJaArdh
Jeafeshar e &

95. Instructive and permissive interactions are
two major modes of inductive interaction
during development. The following compares
some properties of cell lines andscerd blood
stem cells. Cell lines, whichgsare stored in
liquid nitrogen, can be " retrieved for
experiments, where they /ehavetas per their
original self. Cord blood. can also be retrieved
from liquid nitrogen for procuring stem cells.
Unlike cell lings, the=stem cells can be
additionally induced to undergo
differentiation iinto- desired lineages, which
are very.different from their original self. The
behaviour “ef cell lines and stem cells is
analogous to which of the interactions?

1. Bothcell lines and stem cells show
instructive interaction

2. " Cell lines show instructive interaction
whereas stem cells show permissive
interaction

3. Cell lines show permissive interaction
whereas stem cells show instructive
interaction

4. Both types of cells show permissive
instruction

96. ThRSlel JAUTATIT AT HIfAST fafAsramoT

& 9R & fFY I FT FYA Aead §

A. THRS GHAT ool FRSF Bt ol

B. 3éReld RIHFET HR& & Thd g oI
FRFNT & T TAE # 3 g &
TqUT FIRABIIT BT Teh q@A JHEET Toh
IMET A g

C. 3MHRST & Hgdl Jd Uh dgell & oA
R §, PIAFBT 7 A T AT
¢ aur RRelY qEYy s g fRuiRa 8t

gl
D. 3THReT Jaurard gfaefaa fafersdiemor
F gfeafaa &
IRFT FUAT FT DIA-TT TIToleT TET 87
1. AduT B 2. BAATD
3. CaurD 4. Ad@uIC
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96.

97.

97.

98.

Following are certain statements regarding

morphogen gradients and cell specification.

A. Morphogens are always transcription
factors

B. Morphogens can be paracrine factors that
are produced in one group of cells and
travel to another population of cells

C. When the concentration of a morphogen
drops below a certain threshold, cells stop
differentiating and never get determined
to another fate

D. Morphogen gradients are involved in
conditional specification

Which combination of the above statements is

true?
1. AandB 2. BandD
3. Cand D 4, AandC

gl e @ @her fAvmer st qar
AHIUBT & WIS TUr arfgdt & o fafrse
IFAAHAT Y AT AT g1 5T TeH H,

e TS & la-ar TEr 82
1. aftss & sEfeer aur 37 afadr
Breer I asfear anfgan

2. 33T Biee & s3fee aur safussr &
CIEEGEO RS
3. 3isT Siell W Rise U 1] fEreell X

CIEIEG]
4. 38T eell X AREASFE qUT s
fee T Al AFRT

Successful fertilization«in,sea urchin demands

specific interaction " between proteins and

receptors of sperms and:eggs. In view of the

above, which_“one® of the following

combinations is.correct?

1. Bindin'in acrosomes and bindin receptors
on egg vitelline membrane

2. Bindin.in egg membrane and bindin
receptors in acrosomes

3 Resact on egg jelly and bindin on sperm
membrane

4. Proteasomes on egg membranes and
complex sugars on sperm membranes

T ue WINEITEw yurstele &1 ara
Quilg HaEum3i & dey 7 fFY I ¢

A. IOTE 3ST AT YSHII] HT Herdel
MATPR 3GTAT H °gfed giar &l

98.

99.

B. HIEY WRIg 33 &l Gl ok al &ar &

AT PIRAAT AT, TeT HGEAT eIl
gl

C. TX ¥UT 3787 W IRk ETeiferor Tam
sifaRed faem, afder saear &
aRkurfaa giar &l

D. #0T STel Il § YT JIAST IHaEAqT
3UqaRdT: AT & Jrar gl

SWIFT FYAT FT DIA-TT TSI/ TGl 82

1. Adar B 2./ BaarC

3. CaurD & DIATA

Following statements are made in relation to

the five widely recognized stages of

Arabidopsis embryogenesis:

A. The fusionof haploid egg and sperm
takes,place in"Globular stage

B. Rapid cell'division in two regions on
gither side of the future shoot apex forms
Heart stage

C. The cell elongation throughout the
embryo axis and further development
result in Torpedo stage

D. The embryo loses water and becomes
metabolically inactive in the Zygotic
stage

Which combination of the above statements is

correct?

1. AandB

3. CandD

2. BandC
4, Dand A

SAIfthell & Ycdeh WS H 3T JAT 99T

FHE3T T [AFE U9 TWIWT & aR & R

T HUT FeeTad €

A. fEre aur vAdses i fdcafaa
SIS e S g@rT afea g §

B. 'favrery aur UTdges T @dd
JfFcaidd TIges aur fdee wieEr
HI FTHCTFT Pl aTell PITARIIN
T i I=AafHar garr S @
ST B

C. Tarer 3iffcaea w3 & gssarr
3fAcTeFd gar § aUr 3¢9 aREX Yaurdr
eI Bl

D. 8361 Ueh 3fefollel R g
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E. VAdSes Uah HIGsh SRS g adl
el 3fAcTFd HIRFRT & defed

el ¥ Ssdr §l
3WFd FUAT & AT GASAT H T HiT-ar
e 82
1. CJuE 2. C,DAUTE
3. DAUTE 4. AQUTB

99. The following are statements regarding the
development and maintenance of anterior and
posterior compartments in each segment of
Drosophila:

A. Expression of wingless and engrailed is
activated by pair-rule genes

B. Continued expression of wingless and
engrailed is maintained by interaction
between the cells expressing Engrailed
and Wingless proteins

C. Hedgehog is expressed in wingless
expressing cells and forms short range
gradient

D. Hedgehog is a transcription factor

E. Engrailed is a secretory factor and binds
with the patched receptor of the wingless
expressing cells

Which one of the following combinations of
above statements is correct?
1. CandE
3. DandE

24C,/Dand E
4, AvandB

100. C. elegans & #17 I TlE@GTH T W
FRAAT Td FS JG:cadT FRART 7T
ot &1 o9 T H 5T FRSBA fir
HfART Pl THGA. & AT b 1 g T
R R qRuTE e &

- I PRE FIffET A e W F
CART AR fGam Srar g, #er E@Eer A
INT-cadTT HIADPR AT AT ol d2T
9T T faehre w11 g

- g Re e & gdH9 Tua o
ercaadT AR (S T qEemH
FHIRIHY Fgellcl o) A AR &A1 S0 &,
ar PE arer AT FET el

- aRy e me s g AR o
daT §Eg ¥R, S ArERVd:
37Tl AT g, HIT HITABIT & AT
I, 3eTehl TG, ol &

100.

HIT AT & R H $6 HUA fAetad &

A. TERS RIS Wb FHI HH AT gl

B. #IT TITAT I HHCIAT IW=1dTell
el HIRASR, Teh FAGAAT FHg
FAT &

C. & & ¥ did 3NTcagdr IS T
TIGAT H T oIt

D. FEY HIfADT 1° HITART & FT H T
FXAl §, TUT Gl % &l HIfRAGRR 2°
FIfRNFIIT T AE HIT FEel ol

E. 1° HIfAST Teh 3169 IRAT, TFECThSsT
Hoh ATfad ALl

3RIFd I aRoTAT ¥ 3WITFd HUAT
& PiA-U TS 9 T § ?

1. A BdYl C 2.

3. DdUME 4.

A, BdarbD
B,DAUTE

Ine,C.elegans, an anchor cell and a few
hypodermal cells take part in the formation of
vulva. The experiments performed to
understand the role of these cells in vulva
formation and the results obtained are as
follows:

- If the anchor cell is killed by laser beam,
hypodermal cells do not participate in
vulva formation and no vulva develops.

- If six hypodermal cells closely located
with anchor cell (called vulval procursor
cells) are killed, no vulva develops.

- If the three central vulval precursors are
destroyed, the three outer cells, which
normally form hypodermis, take the fate
of vulval cells instead.

Following are certain statements regarding

vulva formation:

A. Anchor cell acts as an inducer

B. Six hypodermal cells with the potentiality
to form vulva, form an equivalence group

C. Three, out of six, hypodermal cells partici-
pate in vulva formation

D. The central cell functions as the 1° cell
and the two cells on both side act as the
2° cells

E. The 1° cell secretes a short range
juxtacrine signal

Which combinations of the above statements
have been derived from the above experimen-
tal results?

1. A BandC 2.
3. DandE 4,

A, Band D
B,Dand E
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101. 9iedt # gfadges 3UMdadSlr & i 97 &

SR # F HYA Heaa: &

A. Imsarieiae SEhEhe duT 36T
FATTIAT Feeak el T@e 8 S5 &

B. 3sSedld 20 HiaaT IifTw &l

C. Tl i 4-plaA raTal & Tl o
ar S

D. UEIYS3sH AUl WX 8l &1

IRFT YA & A7 TS & & FHiF-ar

TS HEY 87
1. A Baarc 2. A BQTYD
3. B,CaurD 4. A, CTUTD

101. Following are certain statements regarding
terpene class of secondary metabolites in
plants:

A. Isopentenyl diphosphate and its isomer
combine to form larger terpenes.
Diterpenes are 20 carbon compounds.

All terpenes are derived from the union of

4-carbon elements.

Pyrethroids are monoterpene esters.

WhICh one of the following combination of

above statements is correct?

1. A BandC 2.

3. B,CandD 4,

0 ow

A,Band D
A, Cand D

102. 3if¥eheT SfieT (ATS), 3T A8 SiieT 4T 9di-
fafrse a5 Sie & aeffepa &g gqfientor
W R T $o FYT Fread &
A AE A Th TH AR SIAE a2 a8 C
TS 9y fafdrse e B
B. #ATSB U& 1A ATS) Sl & dUT ATSP Ush

gy f3fdise, e &

C. AIEQwTSH 3TH ATS ST § JAT ATSA T
qrEnfafse e B

D. S8H T 3T 1S SiieT § T2r aA18Q U
oY fafase e &

SHIFT HYUAT § FE Scck o

1. Adur B 2. Cdur D

3. AT A 4, ®T B

102. The nodulation (nod) genes are classified as
common nod genes or host specific nod
genes. Some statements related to such
classification are given below:

103.

103.

A. nodA isacommon nod gene and nodC is
a host specific gene.

B. nodB is acommon nod gene and nodP is
a host specific gene.

C. nodQ isacommon nod gene and nodA
is a host specific gene.

D. nodH isacommon nod gene and nodQ
is a host specific gene.

Choose the correct answer from the above

statements:
1. AandB 2. CandD
3. Aonly 4. Bonly

TaHIfe aregdt H CO, TAPNEOL & ar
& T Fo Fua Fraad §:

A. TGSIASl Tsoll$H @l HhIATS Hhicdsldeds]

Tk F SRIT HaFelsl 1,6-STSHIEhe
ESSIEGIC A GIN]

B. C, erdiehiolT YehIeraeesT Hiaad dsh
& NI GASOIH3T F TerSHT 1 a0t
FaRade gfeq ghar #1

Gy, C,PleT T & GNIe, 4-FTeel 3l &
NAD-#felh Teali$H CO, HeFd &Ll &,
Hole T 3-Pladd 3Fd, glswde T gl

D. $HEgedl 3Fd U (CAM) & aRTe
Aot e FASOIRBT & IT A
Tafed grar &, dr e 7 At
% IAFF E &

3RIFT HUAT & ToIo=T TASTAT H T HiA-Ar

Tsh TEY &7
1. A BaurC 2. A, CTuD
3. B,CauarD 4. ABTUTD

Following are certain statements regarding

CO, assimilation in higher plants:

A. The action of aldolase enzyme during
Calvin-Benson cycle produces fructose
1,6-bisphosphate.

B. The conversion of glycine to serine takes
place in mitochondria during C,
oxidative photosynthetic carbon cycle.

C. During C, carbon cycle, NAD-malic
enzyme releases the CO, from the
4-carbon acid, malate yielding a 3-carbon
acid, pyruvate.

D. Malic acid during crassulacean acid
metabolism (CAM) is stored in
mitochondria during dark and released
back to cytosol during day.
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104.

104.

105.

Which one of the following combinations of
above statements is correct?

1. A/BandC 2.
3. B,CandD 4,

A, Cand D
A, Band D

qreul & Stererd a2t offa Ta orgur gfeRiy

FI AET ool H Ulsafle 33 (ABA) &1

HAHT ¥ HET F3 FR, frtad §:

A. 3efel@el HRe DREBL Ul DREB2,
ABA-3IThIrl Sl & Iealrdeh &
FAYHATE 3aTdar ¥ ABA-TR Ifa @
Fierd gl

B. LEATYT RD29 S &3 AT I ABA
IR FT B

C. ABA-3IfhaRl Siiel 3eeirareh & o
fFerdicrss ABRE 3@ad 3dfase &

D. ABA-3Iishardl Sl & ait-rgfderaicrss
fASTelleRtuT-37=fshardlT 3/aad (DRE)
sufeya gl

IRIFT HUAT & Vo= TS F T HiA-aAr

T$ ABA & T & TEr &2
1. A BauIC 2. A CTUD
3. B,C,durD 4. AT A

Many factors related to the role of abscisic

acid (ABA) in contributing to drought, cold

and salt resistance in plants are listedibelow:

A. The transcription factors DREB1 and
DREB2 bind to the Cis-acting'elements of
the promoter of ABA-responsive genes in
an ABA-dependent manner.

B. ABA induces many genes such as LEA
and RD29,

C. ABA-responsive genes contain six-
nucleotide ABRE elements in the
promoter.

D. Nine=nucleotide dehydration-responsive
elements (DRE) are present in ABA-
responsive genes.

Which one of the following combinations of

the above statements is correct with respect

to ABA?

1. A,BandC 2.

3. B,C,andD 4,

A, Cand D
A only

fAedRfees 3mer (GA) & Jefohar & grey
Fas a AT T aTer F§ FRAT B

3¢T80T fAeIad &

105.

106.

A. DELLA &3-37dfdfSed GRAS Wl &
3eollgeh o ATT GA-STIT SHIDRRI &l
AT qUT 3TFT 3fRTTFT Fr Aehatr|

B. GA-IITEI Thol I GRAS & HIY S|

C. GRAS®I 26S NEAAH GaRT AGTIh!
FOT TG IhY & v ARERIT H=r

D. §&H - RNAf7efid GRAS 9l
3eaFd &1 374 fFgaoT)|

o TS # SlT-a7 Th TR

1. AduTB 2./ BgurC

3. CaurD &y, ATUTD

Examples of many factors that regulate plant

height in response to gibberellic acid

(GA) are listed below:

A. Binding'ofia GA-bound repressor to the
promoter of the DELLA domain-
containing GRAS protein gene and
blocking its expression.

B. “Binding of the GA-receptor complex to
GRAS.

C. " Directing GRAS for ubiquitination and
degradation by the 26S proteasome.

D. Micro RNA directed down regulation of
the GRAS protein expression.

Which one of the following combinations is

correct?

1. AandB 2.

3. CandD 4.

BandC
Aand D

aredl & e vd faehr H1 g TEell

T Feare wE aew g §

Uil | Ufdelie Tohdel Ifdem3it & a &

R T $o FY @read &

A. FFT VR AT 3regfhar afeT &
UeITcHS fATThl & FT F HIH = ¢l

B. 3Tl d& a1 ¥ 30 R anfeat &
T Tell gl

C. Ufelied amer ETRL (VT 3rfshar 1),
HT FlaTFge BT 3T T & & 3idfase
AT ¢ St BT fhaw 3oRE &9 &
AT B

D. EIN2 (Uf¥elleT-3erle 2) Ush R Breelr
9T & FfSd A gl Wifesicad
qIeul & JIuTH U Adlfgal H ein2
ScuRade, Vel refhansit &1 Seaarget
T g
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106.

107.

107.

3UNFT HUAT AT HieT-AT ATl Tgr &2
1. AJuTB 2. Baurc
3. CdurD 4. DTATA

Ethylene is an important plant hormone that

regulates several aspects of plant growth

and development. Some statements are given

below in relation to ethylene signalling

pathways:

A. Unbound ethylene receptors work as
positive regulators of the response
pathway.

B. There are more than two ethylene
receptors known to date.

C. The carboxy-terminal half of the ethylene
receptor, ETR1 (Ethylene-response 1),
contains a domain homologous to
histidine kinase catalytic domain.

D. EIN2 (Ethylene-insensitive 2) encodes a
transmembrane protein. The ein2
mutation promotes ethylene responses in
both seedlings and adult Arabidopsis

plants.
Which combination of the above statements is
correct?
1. AandB 2. BandC
3. CandD 4, DandA
Tdgd & 3Wd  NaEda™ [ Jur

gUafAar fAef@a Far g1 Waaaes

IWId R ¥ o Teiarer gaedfas, weAt

W R T Fo wYA Head B

A arEfEEe 1 aftd e

B. af¥fd ol 3@« Jer &¥d Uged
Jitgerenfordy

C. Tdgel da'a& 3Meu-gid amfgal & afda
aify & ifaEr sg

D. Fagdl d¥ & 3°d g At 4 &1fda
I H 3T Jg1a

&g 39T H e H § HiA-a1 T TEr

T 82
1. AF A 2. AdYdr B
3. AF C 4, BdUr D

After hemorrhage, a subject develops hypo-
volemia and hypotension. Following are some
of the statements regarding homeostatic
measure taken by the body after hemorrhage.

108.

108.

Increased release of vasopressin
Increased water retention and reduced
plasma osmolality

C. Increased rate of afferent discharge from
D

w >

low-pressure receptors of vascular system

. Decreased rate of afferent discharge from

high pressure receptors of vascular system

Which one of the following is NOT correct in
this condition?

1. OnlyA 2.

3. OnlyC 4,

Aand B
Band D

U fad ardl & 39eT, dcd Searg 9id A

Tsh W I FSAT o HRUT 3Hh FHee

AT &1 $T TeaRl F AT IIH FSAT

3f0F IRTHASE & WSedT & 9T 3T

FATANT T S gl O FSAT & G

aRATTHe (&, AR H Th Mubdl g &

R Fo FrEardt Fead gl

A. FeuR IRIRE dT F g8AT S8 IR
gICT &1

B, fndY off emiiRe ama & forv caar &
3ieY @A arg 3faw gl

C. 3RIA 3GEAT H ARG dAT FedT gl

D. arfger hoTeT euay afies aa &

IRH g &l
et F FiA-ar v T A L
1. AT A 2. AdAar B
3. #AMC 4. Cau D

A visitor to a region of hot climate is more

distressed by the heat than the regular

resident. Within a few weeks, the visitor is

more comfortable with the heat and capacity

for work is increased. Following are some of

the explanations given by a researcher

regarding acclimatization to heat.

A. Sweating begins at a lower body
temperature

B. Blood flow through skin is high for any
body temperature

C. There isrise in resting body temperature

D. Vasoconstriction starts at a lower body
temperature

Which one of the following is NOT true?

1. OnlyA 2. AandB

3. OnlyC 4, CandD
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109. TH AMYUSHdr GaRT et FUAT F HRABrEdTD!

109.

110.

HIARIAT (GC) TAT FTdT HiAwI3T (TC) A

IRETROT H AR IoTd g

A. TC &I 38T GCH soedfas g
AHR

B. GCH 3HT:TdIT it ararefisifaa
g, R TC & 1|

C. TCH faTdes vd »fAwr & 3
g Fifaeierar At afed 81d &, g GC
H A7 fAeges afea gar gl

D. GCIATTC® gt & 3dl H Uged Hfelel

ireATfes o T S A
T 3 & Fia-ar adr 78t B
1. #AFA 2. Adu B
3. Bdu C 4, HT D

The difference in circulation between glo-
merular capillaries (GC) and true capillaries
(TC) are described by a researcher in the
following statements:
A. The hydrostatic pressure in GC is
higher than that in TC
B. The endothelial cells are fenestrated in
GChbutnotinTC
C. Both filtration and fluid movement
into capillary takes place in TC but
only filtration occurs in GC.
D. The plasma colloid osmotic pressures
in both the ends of GC or'TC.are

similar.
Which one of the following'is NOT correct?
1. OnlyA 2. AandB
3. BandC 4. OnlyD

J9 JW HIW I TRCUCH h B8 W T
ISl & GRIRIIRGHACT T g3l
TRTAIRERHTT TR Teh QAMerehcl @Ry f&d oy
SaEle fAeaad gl

A. sy @ afshaor

B. cGMP WEHISEUTEST Hl TeHA

C. Na' JoTral T ¢ glell

D. 3 &1 Afagaor
YHRMAREFAT & &t & & Sia-ar afeq
g g3m?

1. AT A 2. HAE B
3. AT C 4. CTAT D

110.

111.

111.

112.

When rods of retina kept in dark, were
exposed to light, phototransduction occurred.
Following are some explanations given by a
researcher regarding phototransduction:

A. Activation of transducin

B. Inhibition of cGMP phosphodiesterase

C. Closure of Na* channels

D. Hyperpolarization of rods

Which one did NOT occur in photo-
transduction

1. onlyA 2.
3. AandC 4.

only B
Cand D

U fadfa wfdead & sif@egrdfFer daqsn
A facga: AT R, = aur ar
qaait @ dfeaiad (9t w1 dgee
sfafaf@a forgr | a3 389 va it
& TR FHT \Seg3it & Jadiye e
IR fardfRdr_aram| Sfera sddger faee &
T e 9T @l § d HI-AT TH

YIRS HIT gem?
1. 0.05 msec 2. 0.5 msec
3. 0.5 sec 4, 5.0 msec

The afferent nerve fibres of a stretch reflex
were electrically stimulated and the
contraction of the muscle innervated by
efferent fibres was recorded. The synaptic
delay was calculated from the time points of
the nerve stimulation and response of the
muscle. Which one of the following time
durations will be probable value for the
observed synaptic delay?

1. 0.05msec 2. 0.5msec
3. 0.5sec 4, 5.0 msec
ISICE FHI HT giauslrs Td fader

faeg¥d Hohde, HYURUIE: TR &I a9 H
gig ¢, gead: Fifeh Heieedle ddsies gl
YA T w AT e & v e
&r Y AR Ryt # Hia-a1 tF e 82

Body —_— -

Relativelevels =
Relativelevels N
~
.

w
>

Relativelevels
\
N
<,
RN
N
s
- 1
Relativelevels
\
4 ’
-
a2

_______




112. A
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convenient and reasonably reliable
indicator of the time of ovulation is usually a
rise in the basal body temperature, possibly
because progesterone is thermogenic. Of
the four situations given below, which one is
ideal for ensuring pregnancy  after
intercourse?

Body —_— -+ = - Follick

Relativelevels =
Relativelevels N
~
,
N

Relativelevels W
S
\
e
Relativelevels &

113. f&Fdr S & S X i dfdcafFd o=

grAleT &1 3ufeufa & aRa g 81 3egafis
faeevor & gefar & gdfaer Tha ar =T
Letl 2T Let2 GaRT YRGhiAT 8ldl gl il
X @ HfFIfFT 34 gt # egf@a Hir
R St AT Let WA Y 3ifa-31feTea
Fd, Let NEAT Sl SIS & AT S GleAl Hr
T T Ad gl AT & 3uRRyfa, &7

ST X Ffr dAfeafFa & aRoma e
gaifaa g1
aer S X &
sfFafEa
WT ++
Letl OE ++++
Let2 OE ++++
Letl KO —
Let2 KO =
Letl OE —
Let2 KO
Letl KO ++++
Let2 OE

IWIFT & IR R, A al@eni §
FlA-AT fFY T V&0 & T FScdHT Al

@rdr 872
1.

Hormone

Activates
both

Letl Let2

Both combinatorially
activate

Gene X expressed

113.

2. Hormone — Letl — Let2
activates activates

—— gene 'X’
activates

3. Hormone — Let2 — Letl
activates activates
. gene 'X’'
activates
4, Hormone Letl Let2

activates inactivates

!
——— > gene X
Let2 is arepressor &

of gene 'X’

In an organism, expression of ‘gene»'X’ is
induced in the presence of, a “hormone.
Genetic analysis showed' that, the hormonal
signal is transduced through,two proteins Letl
and Let2. The expression of gene ‘X’ was
studied in lines» over-expressing (OE) the
active Let proteins, knock out (KO) of the Let
proteins or/ combination of both. Results of
expression of gene ‘X’ in presence of the
hormene,is'summarized below:

Lines Expression of
Gene *X’

WT ++
Letl OE ++++
Let2 OE ++++
Letl KO —
Let2 KO —
Letl OE _
Let2 KO
Letl KO ++++
Let2 OE

Based on the above, which one of the following
pathways best fits the observation made?

1.

Hormone

Activates
both
Letl Let2

Both combinatorially
activate

Gene X expressed

2. Hormone — Letl — Let2
activates activates
—— gene X’
activates

: +91-70216732

etl

3. Hormone —
activates

——gene'X’
activates

activates

et2

4, Hormone —
activates

—)
Let2 is arepressor
of gene 'X’

inactivates

gene 'X’'
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114.

114.

115.

ar TEieX S AT & 50% aar ¥ar & 50%
HofleT &1 9T &, SET RTUTIEA e g
€| Sielehl & aHeolelel & NI & T3
H A Fla-A 6 3 AR S 3Tddd
Aarere &3

1. 3caRddel 2.
3. ¥TadT Teholel 4.

ECRIpIcC
qITaRoT

Two siblings who inherit 50% of the genome
from the mother and 50% from the father
show lot of phenotypic differences. Which
one of the following events during
gametogenesis of the parents will maximally
contribute to this difference?

1. Mutation

2. Recombination

3. Independent assortment

4. Environment

T gRledd g€ W faar:

A phenotype

A

H
X substance —— H substance

jB

B phenotype
H Ueollel 9ard X & ety H & gRafda
T B
h Ueollel ey X &t H & gRafdd oTaf <
bl dAT TETUTIET O &P o AT B
A Uoolrel 9eTd HLaRafdd ar § d2r
TALTOTHET A T TRE o, STl g
a Ueod Ty H Fl,aRafda 78 &%
ghT|
B Ucoller Yerd H & aRafdd aar § aur
TAETOTIEG. B HT P o ST gl
b ' Veelrer Terd H I aRafda 7&F &
|
A SI&TUTYRY dTel STTFd ! B SI&TUTY®T arel
IfFd & JESARA el W O ALTUTIERT 1
qd g gl e wdet # @la-ar e
3IRIFd F8T0T I of ST FhelT g7

1. Aahh x BbHH 2.
3. AaHh x BBHH 4,

AaHh x BBHh
AAHH x BbHh

115.

116.

Consider the following hypothetical pathway:
A phenotype

A

H
X substance —— H substance

la

B phenotype
H allele converts X substance to H
substance
h allele cannot convert X to H substance
and leads to phenotype ‘O’
A allele converts H substancedeadingito A
phenotype
a allele cannot convert H substance
B allele converts H substance leading to B
phenotype
b allele cannot.convert'H substance
An individual “with® A phenotype when
crossed with ~that> of B phenotype has a
progenywith O/phenotype. Which one of the
following “erosses can lead to the above
observation?
1. “Aahh x BbHH
3.. AaHh x BBHH

2. AaHh x BBHh
4. AAHH x BbHh

dieT Il Fa HIfAT der, X, Yaar Z ¥
fafése, 1@ 8 d & IUrgET T 3UREATT AT
IRt & AT qur e arferer &
SUMAER aRehfedd Sl 3c41g A, B, C T D
& 3cUIGe] H 3eTehl &TAT & v 3ifehd T
|

vabrid ' Human chromosomes 'Gene products

cell _ _present | exprgssed ) ‘

lines [1[2[3[a[s5[6][7[8/A[B[C]|D

' X A+‘+1+A+‘ ‘ \ . ‘—.+' A+‘
v [efel T Telel T [w]-T-T+]
z + \ + + ‘ + + |+ | =]+

a3 St & & 93 & fov e

fedt & @ frad JORET F1 3TFAdH

fAfeses &2

1. 9URE 5W Sl A IURE 3 W S B,
U 8 W SiT C FAT IOREF 1 W
ST D

2. IUHASW SHTA TUT A IURLE 3 W
SiieT B

3. IV 8 W il D, IJURH 1| it C,
IURA S5 W Sl BIURT 4 T ST A

4. IURIFS5 W SHeT A, ORGEF 3 W ST B
qAT JURF LW ST D
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116. Three somatic hybrid cell lines, designated as
X, Y and Z, have been scored for the presence
or absence of chromosomes 1 through 8, as
well as for their ability to produce the
hypothetical gene product A, B, C and D as
shown in the following table:

Hybrid ' Human chromosomes
cell present

'Gene products
| expressed

lines [1]2[3[a[5]6/7/8/Aa]B|C D
| X '+.+1+.+A ‘ . ' .—~‘+‘—-.+
Y .+'+" [ T+]+] | ‘+‘—'—.+
z + | ‘+‘ +“ [« |+ |+ |-+

Which of the following option has most
appropriately assigned chromosomes for each
of the given genes?

1. Gene A on chromosome 5, Gene B on
chromosome 3, Gene C on chromosome 8
and Gene D on chromosome 1

2. Gene A on chromosome 5 and Gene B on
chromosome 3 only

3. Gene D on chromosome 8, Gene C on
chromosome 1, Gene B on chromosome 5
and Gene A on chromosome 4

4, Gene A on chromosome 5, Gene B on
chromosome 3 and Gene D on
chromosome 1

117. @& R, R vfdehde favegsas &

TEAUT PITelel YT T g STET Tehel
fafeerg afea gam &, & afar g

red 3cutfed, JIAS H g TehcT B

A. HTURUT SfieT 37eIshd aTell JUR

B. HfARIfAd Sie 3efshal aTell IURL

CI gl T faeluet Jard Uah gfashar
T

D. EfAIU e faelueT JoFd Teh 3Hehel
T

E. gfaeui vd fAeus god v Jorgd

g T T & fov foes daeer &7 8

RIeT-AT SUGFcTH gIa:
1. A/B,CandD 2. A BandE
3. B,C,DandE 4, A,C,DandE

117.

118.

118.

The following diagram shows meiotic pairing
in an inversion heterozygote and a point where
single crossing over has occurred

D

The resulting gametes produced may. have

A. the chromosome having normal gene
sequence

B. the chromosome having inverted gene
sequence

C. adicentric chromosome with duplication
and deletion

D. an acentricthromesome having
duplicatiomand,deletion

E. thechromosome having duplication and
deletion

Which of the following combination will be

most appropriate for the diagram shown:

1. A/B,CandD 2. A, BandE

3."B,C,Dand E 4, A,C,DandE

T afFaal # F &l T Ieai@d
e & foT 3caerdr Veelrel &l
3TATH: G TgA PIM?

1. Tk Fed H AR, STeT Ueh AfelargE
werdY faReh faEATSIT & T@T & aur
3T AT TE qF Dz g

2. TH X-Ugdfeld goEr faoves & fifsq
T gl

3. JNfeRET Ivermdr faaves & difsa s
& fOar

4. X-HgelfIeid gsdr faave & difsd g7
&1 ar

Of the following, which one of the individuals
will NOT necessarily carry the allele
responsible for the mentioned trait?

1. A woman in a family where an autosomal
dominant trait is segregating and her
mother and son are affected.

2. A daughter of a man who is affected by
an X-linked dominant trait

3. A father of a child who is affected with an
autosomal recessive trait

4. A father of a boy affected with X-linked
recessive trait
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119. &% # @ Hi-41 AaTer HHE T 36H
e $HSR &I FE Aellel 872

A | a0 | aw
T
B. [ rurwed | () | woifam #is
C ausfaa (i) | S
D. | oSt W) | st
V) | #s

A-(iv), B=(i), C-(iii), D-(ii)
A-(ii), B(i), C-(iii), D-(iv)
A-(iv), B=(i), C-(ii), D-(v)
A-(i), B-(v), C(iii), D-(ii)

el N

119. Which of the following is the correct match of
the algal group with its food reserve?

Algal Group
Bacillariophyceae | (i) | Oil
Xanthophyceae (ii) | Floridean starch
Phaeophyceae (iii)| Laminarin
Rhodophyceae (iv)| Chrysolaminarin
(v) | Starch

Carbohydrate Reserve

O|O|m >

A-(iv), B=(i), C~(iii), D~(ii)
A<(ii), B-(i), C~(iii), D~(iv)
A-(iv), B=(i), C~(ii), D-(v)
A-(i), B-(v), C~(iii), D~(ii)

el A

120. 3T 3T9el SR T1oh, OURIAT & TR 0T
3T SHATOg3T (A, B, C) I Ggde 8 T
MYHAT U ATl GRIGTUT JaTold T gl
ot & aRee e o= g

o]
IeTor A |B |C
EEG i
AT oTer + |+ |+
FTE-NEHIT i e

3WIFA & HUR W, ggame 75 Siar] 3
uifferd: &

1. Enterobacter, Salmonella, Escherichia.

2. Escherichia, Salmonella, Enterobacter.

3. Salmonella, Enterobacter, Escherichia.
4

Escherichia, Enterobacter, Salmonella.

120.

121.

121.

A researcher conducts a standard test to
identify enteric bacteria (A, B, C) on the basis
of their biochemical properties. The result is
given in the following table

Bacteria
Test Al B C
Indole +| - —
Methyl Red + + +/—
Voges-Proskauer - - +

Based on the above, the identified bacteria A,
B and C are most probably

1. Enterobacter, Salmonella; Escherichia.
2. Escherichia, Salmonella, Enterobacter.
3. Salmonella, Enterobacter; Escherichia.
4. Escherichia, Enterebacter, Salmonella.

Igaiaal gag afdfie aagh
G IPER GEC M|

A, B C D E Monocots Eudicots

THE AE HAT: glafafica ad

1. Astrobaileyales, Nymphaedales,
Amborellales, Chloranthaceae, Magnoliids

2. Amborellales, Astrobaileyales,
Nymphaedales, Magnoliids, Chloranthaceae

3. Amborellales, Nymphaedales,
Astrobaileyales, Chloranthaceae, Magnoliids

4. Amborellales, Nymphaedales,
Chloranthaceae, Magnoliids, Astrobaileyales

Following is a cladogram of the major
taxonomic groups of the angiosperms:

A B C D E Monocots Eudicots

Groups A-E represent respectively:

1. Astrobaileyales, Nymphaedales,
Amborellales, Chloranthaceae,
Magnoliids

2. Amborellales, Astrobaileyales,
Nymphaedales, Magnoliids,
Chloranthaceae
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122.

122.

123.

3. Amborellales, Nymphaedales,
Astrobaileyales, Chloranthaceae,
Magnoliids

4. Amborellales, Nymphaedales,
Chloranthaceae, Magnoliids,
Astrobaileyales

ool A & @Y AURUT: FERd $S
qCT WaT0T faFaiad &

A. FRAY & AYeT T fahra w1 T
B. e fasreer &r Ay

C. ToelH aTTaT &1 YehdA

D. 3ier ¥ & el e gfasy

IWIFT & AUR W o= Fdie= § &
HIA-AT Th qegey e & e
e & #g Far &7

1. ABdI C 2. B,CAAT D

3. ACaar D 4. AU B

The following are some important features
which are commonly associated with animal
development:

A. Position of anus development with
respect to blastopore

Method of cell division

Mechanism of coelom formation
Cleavage pattern during egg development

COow

Based on the above, which one of the following
combinations differentiate the-development of
deuterostomes from that'of protostomes?

1. A, BandC 2. wB*Cand D

3. A,Cand D 4., Aand B

Sodl HARIRL I, Sl ger g7 foe=r fo
# T R

A B,C,D ¥ Rfgad @#g &
1. A-gd, B-#g, C-uafl, D-Fc=il
2. A- ®Y,B- ®d, C- &0, D- uah

3. A- %53, B- Ul C- @Y, D- &l
4. A- el B- $59, C- |4, D- Tl

The phylogenetic tree of amniote vertebrates is
given in the following diagram

|

Ancestral
amniote

byt

The groups labelled A, B, C/D are

1. A-Snakes, B-Turtles,.C-Birds, D-Mammals
2. A-Snakes, B-Turtles, C-Mammals, D-Birds
3. A-Turtles, B-Birds, C-Snakes, D-Mammals
4. A-Birds, B-Turtles, C-Snakes, D-Mammals

. IES IO dar 399 B9 w4 & &

o IR FA el fetad ¢

A.. JTRFAATE-AT T

AT HehT-SArsaT

ST ST ufhereofeas
hehs-3TRSeITRAT

IRT FAG-faRearar

HIN ART-3NThaCefeas
ﬁmmﬁﬁﬁaﬁamwmw
& gfaafdd &ar g2

1. ACE 2. BaarD
3. AT B 4. HAHFF

mom Oue W

. The following are matches made between

adult animals and their larval forms:
Copepods - Nauplius

Sea cucumber - Zoea

Sea urchin - Echinopleuteus

Crabs — Auricularia

Star fish — Bipinnaria

Brittle star - Ophiopleuteus

WhICh one of the combinations below reflects
INCORRECT matches?

1. A CE 2. BandD
3. Bonly 4. Fonly

""I."'I.UOPUP
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125. faF & 3f0a genfaar 1 qor 2 & S afaar
(by, by) dUT FIOT aIfdAT (dy, dy) & SR H Ry

N 5T FUAT § T HIT-91 ey Tgr § ?

3. a-— Nitrobacter b —Nostoc ¢ —
Nitrosomonas d — Pseudomonas

4, a—Nostoc b - Nitrosomnonas c¢—
Nitrobacter d— Pseudomonas

d, 126. Important chemical reactions involved in
% F e nutrient cycling in ecosystems are given
g below:
S By a. NO; -» NO3
EEF S b. N, - NH;
< b. -
£ z c. NHf - NO3
Population density ——> d NO:; - N2
The organisms associated with these chemical
1. gefa 16T Siefel 1T efed T@a El reactions are
! ! . 1. a—Nitrosomonas b #Pseudomonas ¢ —
2. a‘_"ﬁ SorTferat it FROT ATt weca fae Nostoc d — Nitrobacter
gl 2. a—Pseudomonas_ b —Nitrobacter ¢ —
3. TS 2 7 Sieled ST geca-freiR Nostoc d —Nitrosomonas
X i oS 3. a— Nitrobacter b Nostoc c-
4.zt . % fow oefea- I Nitrosomonas ‘d — Pseudomonas
qed B 4. a—Nostac /b — Nitrosomonas ¢ —
Nitrebacter d— Pseudomonas
125. Which of the following statements about the
birth rates (by, by) and death rates (d,, d) of 127\ 8Tclef. &TAT 400 aTel Ueh GTaor & qefel
ffueec?leslandZ indicated in the figure is NOT TR () 015 Y FAE F WH TH @
gigarad: affd & W g 38 I &
P frsare 3Tgan 9fg X (Rt $ e
gfd ATdIg) 4T 87
b, 1. 15 2. 30

P 3. 225 4. 60
i b

2

Birth rates/Death rates

127. A population is growing logistically with a
growth rate (r) of 0.15/week, in an
environment with a carrying capacity of 400.
What is the maximum growth rate (No. of

Population density ———

1. Birth rates of species liare'density-

independent.

2. Deat?w rates of bothispecies are density- indi_viduals/week) that this population can
dependent. achieve?

3. Birth rates ofispecies 2 are density- 115 2. 30
dependent: 3. 225 4. 60

4. Density-dependent effects on death rates . ' .
aressimilar for both the species. 128. U WA YAT A F@UINAT A FehrRIERCIYOT

& fav s “c-RRETd ea e g
frar arar g1 |8 O TR W aquedard
(o) Waufiar TR Fafag et &

126. “iRdT H WINeh dcdl & IhUT H FiEATod
Ay aEfas sifafsad @ & = 8

N A T fr ReT s A e
c. NHf - NOj TR 9 WA foaq @gfR@a gl 2
d. NO3 >N, 1. 3eAFd FEEPR 2. mESA
fﬂ E : 3 & HE Sfa 3. Uy aef 4.  OH FTIA

a— Nitrosomonas b — Pseudomonas ¢ —

Nostoc d — Nitrobacter . . .
2. a— Pseudomonas b — Nitrobacter ¢ — 128. In a field experiment, autotrophs are provided

Nostoc d —Nitrosomonas a 'C-labelled carbon compound for
photosynthesis. Radioactivity (**C) levels
were then monitored at regular intervals in all
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129.

129.

130.

the trophic levels. In which ecosystem is the
radioactivity likely to be detected fastest at
the primary carnivore level?

1. Open ocean 2.
3. Deciduous forest 4.

Desert
Grassland

130.
T X - Y gaul & & Fia-ar, 3@ & 30

SR GTET T TEOT AGH HIr?

1. AR I 3T Fr &A1 (Y), 3N gedcd
(X) & @ag H

2. YRIAHRAVTT T (Y), ThTel dadl &
(X) "oy H

3. wolfd U=kl (Y), &1F%d (X) & q&Y A

4. geT Gl JeRT (Y), drEdideh aredef-
arucHel & gae H

131.

Which of the following X — Y relationships
does NOT follow the pattern shown in the
graph?

X

1. Number of prey killed () in relation to
prey density. (X)

2. Photosynthetic rate (Y) in relation to light

intensity. (X)

Species richness (Y) in relation to area (X)

Tree species richness (Y) in relation to

actual evapotranspiration

w

U FHST A 9T gaT Jefifadl v cafseat
$r gear & [T arfaer card §:

gef geitfd | egfeedr
e

50

20

20

05

05

moiO|w| >

131.

IRFT F IUR W AT F {FIT=H
fafaerar gereprer grem

1. 0.552. 2. 0.335.

3. 0.435. 4. 0.345.

Following table shows the number of
individuals of five tree species in a community:

No. of
Individuals
50
20
20
05
05

Tree species

molOo|m|>

Based on the aboyve, the:Simpson’s diversity
(DS) Index of the community will be

1. 0.552. 2. 0.335.

3. 0.435. 4. 0.345.

it eIt (A, B, C) # 9 geirfaat Y
YRR (+) AT (-) equiedfa & @

GUCEIRCRUGINS
o]
— A |[B |C
1 + + +
2 + + -
3 _ _ +
4 + - -
5 _ _ +

3PFT & ATUR W e # & Hle-a,
AN & a6 JIel & S Jegehl Rl &l
e A B2

AdYUr B>BAITC>ATATC
AdITB>AdIrC>BdurcC
BAUATC>AdATB>A TdarC
ATIC>ATaB>BaarC

1
2
3.
4
Following table shows the presence (+) or

absence (-) of five species in three
communities (A, B, C):

Community
Species A B C
1 + + +
2 + + -
3 - - +
4 + — —
5 — _ +
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132.

132.

133.

Based on the above, which of the following is
the correct order of similarity between

two pairs of communities?

1. AandB>BandC>AandC

2. AandB>AandC>BandC

3. BandC>AandB>AandC

4. AandC>AandB>BandC

IfE UAd HHAY N=20 T F5 3«redr 7

3Me1afRreh faerersl Ueollell T Ardel SRR

& gRada & gRorifAa gar g, ar

A. 3 3merfedt, ST Yeoller @ ST &
a1 SR 81d 8, & Ieard # gfd

B. 0T 1 & &I Ycdsh Vool SRETIRAT
g # g 9IEr &7 T F4r At &2

AT B foT TEr 3cc &
A-0.25B-0.125
A—0.025, B —0.0125
A—0.0125, B - 0.025
A-0.125B-0.25

el NS

In several populations, each of size N=20, if
genetic drift results in a change in the relative
frequencies of alleles,

A. What is the rate of increase per generation
in the proportion of populations in
which the allele is lost or fixed?

B. What is the rate of decrease per,
generation in each allele frequency class
between 0 and 1?

The correct answer for Arand B is:

1. A-0.25B-0.125

2. A-0.025, B-0.0125

3. A-0.0125,B-0.025

4. A-0.125B-0.25

cafFd B I HEIIAT ik cafard A 160

SHISAL H FIEAAT AT TIod F T ¢,

R, W I FHY 50 RIS I T

el T 1 gffAces @ad & 36ER, A

HI B & AT I N Ay 9 B

3HHAT/HT

1. #TdT I1 98 gl

2. UUH T, HHA, AR AT AT A 8T

3. TR, BURT, FERT T ARRT 1S a1
HTH/AET 8

4. SIS AT ST B

133.

134.

134.

135.

135.

Individual A can derive ‘fitness’ benefit of
160 units by helping Individual B, but incurs
a ‘fitness’ cost of 50 units in doing so.
Following Hamilton’s Rule, A should help B
ONLY if B is his

1. brother or sister.

2. first cousin only.

3. cousin or uncle.

4. nephew or niece.

AT AT IRFPeTAT T § ST

1. SEfAaTer R & AR A G A

2. W AT GaRT &ifdey Seaiaced &
foTsepTaeT

3. 39 9ol &7, Sigl &K Uhd gid &, H
TEdr ATGT hp Sig axor gfshar

4, 9N JULUISNAT & &I HHATARATCHS
RAFIO TIET

The *Red Queen Hypothesis” is related to

1. “the'mating order in the harem of a
polygamous male.

2. “the elimination by deleterious mutations
by sexual reproduction.

3. mate selection process by a female in a
lek.

4. the evolutionary arms race between the
host and the parasite.

3erlleT SeaRac I o JFel, FHTA MY
AT N, T T 3&Er FH, 3cqRadsT Ta
31 faereleT & o qrgraeyr & gid

gfFerdicss T fAvHgIAS T Irgicd
W aRefad @ T &
1 2Nelg 4Nelo
" 4Ngpp+1 4Noug+1
3 Nello 4Nepo
| 4Nepo+1 (4Nepio—1)

In a population of effective population size
N, with rate of neutral mutation po, the
frequency of heterozygotes per nucleotide site
at equilibrium between mutation and genetic
drift is calculated as

1 2Nelg 2 4Nelo
" 4Ngpg+1 " 4Ngpot+1
N, 4N
3. eMo 4 elo
4Nepo+1 (4Nepo—1)
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136.

136.

137.

137.

S-S dehelde dodl §, TUEICROT, oo,
gied giar g1 IS 3o goATd=ard I ggretan
¢, et deellet A @ Sla-ar sugFaaH
g

1. RAPD 2. [&A g
3. sgavff FISH 4. GdTg WISCIHST

As cancer progresses, several genome
rearrangements including  translocation,
deletion, duplications etc. occur. If these
rearrangements are to be identified, which of
the following techniques would be most
suitable?

1. RAPD

2. Microarray

3. Multi-colour FISH

4. Flow cytometry

TNFIRTH ABATH & aR H Th

fagaredt & e wR 3ifera R

A A CABIH Toh ATH-HKOT Hel Siar §

B. T,-Collfolds & T-DNA & & 3Nus
3Ty SN 39feya g

C. UfH&AT 3Fal d2uT a-HIer HFall AT TiHA-
3FAT qAT AFRA & TEeAT T 3NASAT
T [T BT g

D. A THABATTE Rl HRUT fhle
AT T & Th ol Tag 1, 5=
grey grAfT & Ao, wafia fmar o

gohdT &l
3RIFT FUAT Pl DIA-TT TITolT TEl 872
1. ABduC
2. ABJIE D
3. Bledar D
400A C AT D

A student noted the following points

regarding Agrobacterium tumefaciens:

A. A.tumefaciens is a gram-negative soil
bacterium.

B. Opine catabolism genes are present in T-
DNA region of T;-plasmid.

C. Opines are synthesized by condensation
of amino acids and a-ketoacids or amino
acids and sugars.

138.

138.

D. A callus culture of crown gall tissue
casued by A. tumefaciens in plants can be
multiplied without adding phytohormones.

Which one of the combinations of above

statements is correct?

A BandC

A, Band D

B,Cand D

A, Cand D

el N =

E-MEeT fASOT Fr e T guferdr Taet
& 3efieT fohar I ;) yeATaA fAfAH, b)
3THATT 39deisl  (Sephadex 100) &@2T (c) 3cshel
grae| forst aR=Sfewd aree &5

Cation exchange Size exclusion
A B B A

“Nacl

Absorption
Absorption

Time — Time —

Reverse Phase

B
Acetonitrile
’1'

Absorption

Time —>

3T URTSEHBT & IR )}, e Fy=r

¥ ¥ Plo-ar @ &2

1. B Jotell A A 6k Ud fAh
ECEIRE

2. AF Jolelm A B 3R HOMIA U
ECEIRE

3. B &I ol A A 3l ST vd oler g

4. B oI A A @R AT U BT &l

A mixture of two proteins was subjected to
following three chromatographic columns: a)
Cation exchange, b) Size exclusion (Sephadex
100) and (c) Reverse phase. Following elution
profiles were obtained

Cation exchange Size exclusion

A B B A
,NaCl

Absorption
Absorption

Time — Time —
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139.

139.

Reverse Phase
B

Acetonitrile
’1

Absorption

Time —>

Which of the following statements is correct?

1. Ads larger and more hydrophobic than B.

2. B is more anionic and more hydrophobic
than A.

3. A‘is more hydrophobic and smaller than B.

4. A is more cationic and smaller than B.

T H Tfehlel TN 3eld TshA! EaRT (3, b, ¢
aur d) HgiEd fRar Sirar g1 3 IR 9ehAt
@RI TPl HgEe A Haeaftedr wE
aRER foest eiar T gl @ #H aofieT
HT oAcIfelehd: UTHTS Figar 80 — 250mg/dL
& dra 7 g

Signal

8:0 12I0 16|0 ZIOO 2410 ZISD
Glucose mg/dL
Ao whAl & A FlT-A1 3ugFIaH &2
1. a 2. b
3. ¢ 4, d

Glucose in the blood is detected by four
different methods (a, b, ¢ and d). The
sensitivity andwrange of detection of glucose
by these .four:, methods is shown below.
Clinically relevant concentration of glucose in
blooduis between 80 — 250mg/dL

Signal

i t t t t i
80 120 160 200 240 280
Glucose mg/dL

Which of the following method is most
appropriate?

1 a 2. b

3. ¢C 4. d

140. A HYF UCT Fds TIT F TG H §:

A TS RroT, PR FoEe Fae e
& foT E9ged vee FT &

B. rderelld @Ay & eRmer anfoas aun/ar
ATSCIFISTAA ST TTISAT I THUT &
Gl & TOTeR AT HEIE' H AH
fafea afhar deoha e B

C. Sfageas datl & I & foT FraRord:
Todolel qUT YiFearsl TrallsH &IH A
fow S §l

D. #Iideh ur faeprer & @Rre, eridist raear
HOT, T ITaEAT $0T G ool I &Il &l
3WFd FYUAT & ool AT H &

PIT-AT THTET &2
1. A, BandC 2. A,BandD
3. A CandD 4, B,CandD

140. The following statements are related to plant
tissue'culture

A.>Friable callus provides the inoculum to
form cell-suspension cultures.

B. The process known as ‘habituation’ refers
to the property of callus loosing the
requirement of auxin and/or cytokinin
during long term culture.

C. Cellulase and pectinase enzymes are
usually used for generating protoplast
cultures.

D. During somatic embryo development,
torpedo stage embryo is formed before
heart stage embryo.

Which one of the following combinations of

above statements is correct?

1. A, BandC 2.

3. A, CandD 4,

A, Band D
B,Cand D

141. & T FUAT H T FIA-GT Th Ter g ?

1. R IR &1 faegd TR gegaAmT
JUIATAT AT dd IIAT ST bl & oTe
pH 7.4 T 3HSHT Fel AU U Tl

2. TIEIWE Fr gfadifea guiAter $r
g{&7oT ganrT R TIgTeIwTeT
3idfafsed deergs i Hsfera siddite
qrfY ST Gehdr
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141.

142.

3. frdY WideT & der Ra &1 gfed g
3HH el Gador quiATen ¥ HAoRd
g T Bl

4. fordr Fifares &1 TS Fia faeRor
3HAT BC NMR ToTHETT 61 31981 3HT
'H NMR auTaETelr & Fg7 318 &1

Which one of the following statements is

correct?

1. Electrospray ionization mass spectrum of
a compound can be obtained only if it
has a net positive charge at pH 7.4

2. Helical content of a tryptophan containing
peptide can be obtained by examining
the fluorescence spectrum of tryptophan

3. The occurrence of beta sheet in a protein
can be inferred from its circular
dichroism spectrum

4. The chemical shift spread for a compound
is more in its 'H NMR spectrum as
compared to its *C NMR spectrum

TH Mudar ot R & R f[ftrse
QT X° & 3URIAR TATAROT T
IFETTT I QT gl AERAT  HfES
IYHAIFIOT Fec guich 1 & A1y Fade
AT Bl Merehcdl BRI \FHN DT Y
600g TX 10 min o THUT [l HdT &,
I[fEHT T HIE AT &, 20 min & AT 10,000
g W TATdl I THU] AT & TAT IfEHT FI
HIE AT &, 1 hoursos fow comar @r
100,000g X ThUT el §, I[feehr our i
T alAl L ThT Far gl gfamde -X
afeRe &A1y fafde=r arfesmit aur ifas
TATdh, PN aTes AMWUT F O FNA WA W
AT A ¥ F NOad SwuaA
JfereafFa 10,000 g W 3ThIpa et A
gl AT g1 3UUFd WETUT & YR WX
QIET-X &7 3T THST TATHIHIOT FIAT gRIT?
1. Feh 2. EEEH

3. gAROIRR 4. GEAPT

a

142.

143.

143.

144,

A researcher is studying the subcellular
localization of a particular protein ‘X’ in an
animal cell. The researcher performs
successive centrifugation at increasing rotor
speed. The researcher starts spinning the
cellular homogenate at 600g for 10 min,
collects the pellet, spins the supernatant at
10,000 g for 20 min, collects the pellet, spins
the supernatant at 100,000g for 1 hour,
collects both the pellet and the final
supernatant. On subjecting various pellets and
the final supernatant to Western blotting with
anti-protein-X antibody, the.(protein” X is
observed to be maximally expressed in pellet
after centrifugation at 10,000 g. Based on the
above observation, what will be the most
likely localization of protein X.
1. Nucleus 2.
3. Mitochondria 4.

Ribosomes
Microsomes

SHTAeT HIRAFTIHT FH Jehmeriaistsl & g2dard
FENTT G- gTiCT e TeiRor & e &
T Srar g

1. WEET T Tg-TATARIOT

2. @ 39Tl & o HT gl

3. W& & faERor

4. “gEFARde FET FEEAT

Fluorescence recovery after photobleaching in
live cells is used to determine

1. co-localization of proteins

2. distance between two organelles

3. diffusion of proteins

4. nucleic acid compactness

TIAT-YhR T I FHIOT el & fow

3M9eT fRET HIRAST Iq H T AT YA r

(g s gfeRelt 3yerey #gT §) reurl

& § FfFcgad Far g1 59 a3 AT fir

FfFcaFa aR=Bdfgar & wdeor & favw

5T 3Ut # & HlA-G1 Tk FcAd Y-

T gram?

1. *s RAfEAd tfAar 31 &l 39T
39T g gant

2. 3 A% YA & AT TH GFP Hordel
QT FaATehT
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144,

145.

3. el 3T Wide foraehT gfeelr 3ucrsy

g, 39% 1Y 3T T T YiaRET 3rgeiqor

Hh
4. SDS-PAGE Tt T Wl &l qgdleta

You have transiently expressed a new protein

(for which no antibody is available) in a cell

line to establish structure  function

relationship. Which one of the following

strategies is the most straight forward way to

examine the expression profile of this new

protein?

1. By metabolic labelling using *S labelled
amino acids

2. Making a GFP fusion protein with this
new protein

3. Immunoprecipitating this protein with the
help of another protein for which
antibody is available

4. Running SDS-PAGE and identify the
protein

Tdh BT of T AT & el fhdr I i
giga arfafafer &1 gar e, oras faw de
Turey greard o, e Wi v gied

HfFeafea, gfega BIERREAROT, T 3
g AT & T gid IAFaHA B

Sl @ Frifead FNe & RIS, T8
ﬁw&w@%qﬁamﬁﬁﬁrmw
HERIRAT & oF & fMHeh, ™ TE
AT & AFT FEEmed T SiF-aT TH
gAIOIT A8 HLIm?

T MVoT gy
et I T faeersor

EcTHATE JUTHTAT A ATl
HIERNEAAT 37 fagevoT

el A

145. During an experiment, a student found

increased activity of a protein, for which there
were three possible explanations, viz.,
increased expression of the protein, increased
phosphorylation, or increased interaction with
other effector proteins. After conducting
several experiments, the student concluded
that increased activity was due to increased
phosphorylation. Which one of the following
experiments will NOT support/provide the
correct explanation drawn by the student?

1. Western blot analysis

2. Analysis of transcription rate

3. Mass spectroscopy

4. Phospho amino acid analysis
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[ FOR ROUGH WORK ]






